S
Zhuji Yong Bang Machinery Co., Ltd.

Hose Fitting

EF-T-N

Braided



SWAGED HOSE FITTING

10311
O
o & J O-RING METRIC MALE FLAT SEAL
REF. JB/T 988
ST
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A c S1
10311-12:04 M12X1.25 6 04 225 10 14
10311-14-04 M14X1.5 6 04 23.5 11 14
10311-16-04 M16X1.5 6 04 23.5 11 17
10311-16-05 M16X1.5 8 05 23.5 11 17
10311-16-06 M16X1.5 10 06 23.5 11 17
10311-18-06 M18X1.5 10 06 235 11 19
10311-22-05 M22X1.5 8 5 27 12 24
10311-22-06 M22X1.5 10 06 26 12 24
10311-22-08 M22X1.5 12 08 26.5 12 24
10311-27-10 M27X1.5 16 10 315 13 30
10311-30-12 M30X1.5 20 12 33.5 14 32
10311-36-12 M36X2 20 12 35.5 16 38
10311-36-14 M36X2 22 14 355 16 38
10311-39-16 M39X2 25 16 39 16 41
10311-45-20 M45X2 32 20 44.5 20 46
10311-52-24 M52X2 40 24 47.5 22 55
10311-64-32 MBAX2 50 32 525 | o7 65
1 2. 10312-xx%x

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is 10312-xx-xx.

B-01



HOSE FITTING

A
L 10411
24 (W 24
—-l METRIC MALE 24?CONE SEAT L.T.DIN 3853
S1

E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH TUBEOD. A C S1
10411-12-04 | m12x15 | 6 | 04 | 6 l205]| 10 | 12 | |
10411-14-04 M14X1.5 6 04 8 205 10 14
10411-14-05 | M14x1.5 | 8 I o5 | 8 f215] 10 | 14 | |
10411-16-04 M16X1.5 6 04 10 225 11 17
10411-16-05 | M16x1.5 | 8 | 05 | 10 Je225 | 11 | 17 | |
10411-16-06 M16X1.5 10 06 10 225 11 17
10411-18-05 | Mm18x1.5 | 8 | 05 | 12 J235]| 11 | 19 | |
10411-18-06 M18X1.5 10 06 12 225 11 19
10411-22-06 | M22x1.5 | 10 | 06 | 15 Joas| 12 | 24 | |
10411-22-08 M22X1.5 12 08 15 26 12 24
10411-26-08 | M26x1.5 | 12 | 08 | 18 l2s5]] 12 | 27 | |
10411-26-10 M26X1.5 16 10 18 27 12 27
10411-27-10 | M27x1.5 | 16 | 10 | 18 | 32| 14 | 30 | |
10411-30-10 M30X2 16 10 22 29 14 32
10411-30-12_|  wm3ox2 | 20 | 12 | 22 | 29| 14 | 32 | |
10411-36-16 M36X2 25 16 28 315 14 38
10411-4520 |  m45x2 | 32 | 20 | 35 | 3 | 16 ] 46 | |
10411-52-24 M52X2 40 24 42 38 16 55

B-02



HOSE FITTING

A
C
% 10511
e e S
24 |W 24
METRIC MALE 24?CONE SEAT H.T.DIN3853
S1
E HOSE BORE DIMENSIONS
PARTNO.  THREAD E DN DASH TUBEOD. A c s ‘
10511-14-04 | m14x1.5 | 6 [ o4 | 6 |2a5] 12 | 14 | | |
10511-16-04 M16X1.5 6 04 8 265 12 17 |
10511-18-04__| M18x1.5 | 6 [ oa T 10 Joes| 12119 | |
10511-20-05 M20X1.5 8 05 12 27 12 2 ;
10511-20-06 | M20x1.5 | 10 ] o6 | 12 Joes]| 12 | 22 | |
10511-22-05 M22X1.5 8 05 14 305 14 24
10511-22-06 | M22x1.5 | 10 | o6 | 14 l305] 14 | 24 | | |
10511-22-08 M22X1.5 12 08 14 31 14 24 |
10511-24-08 | M24x1.5 | 12 | o8 | 16 l315] 14 | 27 | | |
10511-30-10 M30X2 16 10 20 345 16 32 ;
10511-30-12__| m3ox2_| 20 [ 12 | 20 |3 | 16 | 32| | |
10511-36-12 M36X2 20 12 25 405 18 41
10511-36-16 | M36x2 | 25 | 16 | 25 Ja15] 18 | 38 | | |
10511-42-16 M42X2 25 16 30 44 20 46 |
10511-42-20 | ma2x2 | 32 | 20 | 30 [ 45| 20 | 46 | | [
10511-52-20 M52X2 32 20 38 50 22 55 |

B-03



HOSE FITTING

A
10611
60 __J 60
METRIC MALE 60CONE SEAT
E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A c S1
| 10611-14-04 M14X1.5 6 | 04 | | 235 | 11 | 19
. 10611-14-06 M14X1.5 10 , 06 25 11 19
| 10611-16-04 M16X1.5 6 | 04 | | 275 | 12 | 2

10611-16-05 M16X1.5 8 05 275 12 22
[ 10611-18-06 M18X1.5 10 | 06 | | 205 | 12 | 24

10611-22-06 M22X1.5 10 06 305 14 o
[ 10611-22-08 M22X1.5 12 | 08 | I 31 1 14 | 27

10611-24-10 M24X1.5 16 10 35 14 30
[ 10611-26-10 M26X1.5 16 | 10 | | 35 | 16 | 32

10611-27-10D M27X1.5 16 10 35 16 32
| 10611-27-10 M27X2 6 | 10 | | 37 | 18 | 23

10611-30-12D M30X1.5 20 12 38 18 36

10611-30-12 M30X2 20 | 12 | | 38 | 18 | 36

10611-33-16 M33X2 25 16 43 20 46
| 10611-42-20 M42X2 32 | 20 | [ 46 | 20 | =0

10611-45-20 M45X2 32 20 46 20 55
_| 10611-48-24 M48X2 40 | 24 | | 46 | 20 | =5

10611-52-24 M52X2 40 24 46 20 60

B-04




HOSE FITTING

A
C
10711
I-|-|74( J 74
J]Dl]l GB METRIC MALE 74?CONE
S1
E HOSE BORE DIMENSIONS
PARTNO.  THREAD E DN DASH A c s
[ 10711-10-02 | wm1ox1 | 4 | 02 | 23 1125 | 14 | |
10711-10-03 M10X1 5 03 23 125 14
| 10711-12-03 | wm12x1.5 | 5 | 03 | 265 1 157 1 14 | |
10711-12-03C  M12X1.25 5 03 245 14 14
[ 10711-14-04 | wm1ax15 | 6 | 04 l3051 18 | 17 | |
10711-14-06 M14X1.5 10 06 305 18 17
[ 10711-16-05 | m1ex15 | 8 | o5 [3151 19 [ 17 | |
10711-16-06 M16X1.5 10 06 315 19 17
[ 107111806 | m18x15 | 10 | 06 | 3151 19 | 19 | |
10711-22-08 M22X1.5 12 08 35 195 24
[ 10711-24-08 | w24ax15 | 12 | 08 | 371 20 | 27 | I
10711-27-10 M27X1.5 16 10 385 205 30
[ 10711-30-12 | m3ox15 | 20 | 12 lao5 ] 23 | 32 1 |
10711-30-12E M30X2 20 12 455 26 32
10711-33-12 M33x2 | 20 | 12 | a5 | 26 | 36 | |
10711-36-14 M36X2 22 14 45 26 38
| 107113016 | wmzexz | 25 [ 16 [ 48 1275 ] 41 | |
10711-42-20 MA2X2 32 20 52 285 46
10711-45-20 MA5X2 32 20 52 | 285 | 46
1. 2 10712-xx-XX

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is 10712-xx-xx.

B-05



HOSE FITTING

LOCK NUT

.////////////////A

ot s e

10811L 10811L-LN

90
METRIC MALE 90C ONE

PART NO. THREAD E DN DASH A c st S2
10811L-12-04 M12X1.5 6 04 46 34 17 17
10811L-12-04A | M12xX1 | 6 | 04 | | 445 1 325 | 17 | 17
10811L-14-04 M14X1.5 6 04 46 34 17 19
10811L-14-06 | M14X15 | 10 | 06 | 465 ) 34 | 17 | 19
10811L-16-04 M16X1.5 6 04 465 34 19 22
10811L-16-06 | M16X1.5 | 10 | 06 | 465 34 | 22 | 22
10811L-20-06 M20X1.5 10 6 57 40 27 27
10811L-20-08 | M20x1.5 | 12 | 08 | | 575 1 40 | 27 | 27
10811L-22-08 M22X1.5 12 08 625 45 27 27

"LN" 10811L-12-04LN
Note: if you are interested to order the fitting with lock nut,please insert suffix "LN" after our part no. for example
10811L-12-04LN.

B-06




HOSE FITTING

A
C
12211
Vil oo o oo iy ey 2 v
BSP MALE O-RING SEAL
S1

E HOSE BORE o DIMENSIONS

PART NO. THREADE DN DASH O-RING A C S1
12211-04-04 | c14a"x19 | 6 | o4 ot | 235 | 11 | 19 |

12211-04-06 G1/4"X19 10 06 0111 235 11 19
12211-06-06 | G3/8"x19_| 10 | 06 o113 | 265 | 12 | 22 |

12211-08-04 G1/2"X14 6 04 o115 335 14 27
12211-08-06 | G1/2"x14 | 10 | 06 o115 | 335 | 14 | 27 |

12211-08-08 G1/2"X14 12 08 0115 34 14 27
12211-10-10 | G5/8"X14 | 16 | 10 0910 | 36 | 155 | 30 |

12211-12-10 G3/4"X14 16 10 0119 335 155 32
12211-12-12 | G3ax1a | 20 | 12 o9 | 38 | 155 | 32 |

12211-12-16 G3/4"X14 25 16 0119 36 155 32
12211-16-16 | G1"x11__| 25 | 16 0217 | 445 | 185 | a1 |

12211-20-20 G1.1/4"X11 32 20 0222 46 20 50

B-07



HOSE FITTING

A .
C
% l 12611
60 | Wi+ l - . i 60
BSP MALE 60 CONE SEAT
S1

E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A c st
12611-02-03 | G1/8"X28 | 5 03 [ 2| 0] 1
12611-04-04 G1/4"X19 6 04 245 12 14
12611-06-05 | G3/8"x19 | 8 05 | 26 | 135 | 17
12611-06-06 G3/8"X19 10 06 275 135 17
12611-06-08 | G3/8"x19 | 12 08 | 265 | 135 | 19
12611-08-06 G1/2"X14 10 06 305 16 22
12611-08-08 | G1/2'x14 | 12 08 | 31 | 16 | 22
12611-10-08 G5/8"X14 12 08 325 175 24
12611-10-10 | G5/8"x14 | 16 10 | 335 | 175 | 24
12611-12-08 G3/4"X14 12 08 355 185 27
12611-12-10 | G3/4"x14 | 16 10 | 37 | 185 | 27
12611-12-12 G3/4"X14 20 12 365 185 27
12611-16-12 |  G1x11 | 20 12 | 405 | 205 | 36
12611-16-16 G1"X11 25 16 415 205 36
12611-20-16 | G1.1/4"x11 | 25 16 | 435 | 205 | 46
12611-20-20 G1.1/4"X11 32 20 445 205 46
12611-24-20 | G.12'x11 | 32 20 | 49 | 23 | 50
12611-24-24 G.1/2"X11 40 24 46 23 50
12611-32-32 |  G2'x11 | 50 32 | 535 | 255 | 65

B-08




HOSE FITTING

12611A
60
60
BSP MALE DOUBLE USE FOR 60
S CONE SEAT OR BONDED SEAL
E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C St
12611A-02-03 |  G1/8"X28 5 | o3 l 22 | 10| 14
12611A-04-04 G1/4"X19 6 04 245 12 19
12611A-04-05 |  G1/4"X19 8 | o5 | 245 | 12 | 19
12611A-06-05 G3/8"X19 8 05 26 135 22
12611A-06-06 | G3/8"X19 10 | o6 | 28 | 135 | 22
12611A-06-08 G3/8"X19 12 08 285 135 22
12611A-08-06 | G1/2"X14 10 | o6 | 33 | 16 | 27
12611A-08-08 G1/2"X14 12 08 335 16 27
12611A-08-10 |  G1/2"X14 16 | 10 | 32 | 16 | 27
12611A-10-08 G5/8"X14 12 08 3 175 30
12611A-10-10 |  G5/8"X14 16 | 10 | 36 | 175 | 30
12611A-12-08 G3/4"X14 12 08 365 185 32
12611A-12-10 |  G3/4"X14 16 | 10 | 375 | 185 | 32
12611A-12-12 G3/4"X14 20 12 375 185 32
12611A-16-12 |  G1"X11 20 | 12 | 425 | 205 | 41
12611A-16-16 G1"X11 25 16 435 205 41
12611A-20-16 | G1.1/4"X11 25 | 16 | 455 | 205 | 50
12611A20-20  G1.1/4"X11 32 20 465 205 50
12611A-24-24 |  G.1/2"X11 40 | 24 | 49 | 23 | 55
12611A-32-32 G2"X11 50 32 545 255 70

607

B-09




HOSE FITTING

13011-SP
A A A A A A 4
I |/ BSPT MALE

E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A c S1
13011-02-03SP | R1/8"x28 | 5 | 03 | 22 | 10 | 12
13011-02-04SP  R1/8"X28 6 04 225 10 12
13011-04-04SP | R1/4"x19 | 6 | 04 | 27 | 145 | 14
13011-04-05SP  R1/4"X19 8 05 25 154 14
13011-04-06SP | R1/4"x19 | 10 | 06 | 27 | 145 | 17
13011-06-04SP___ R3/8"X19 6 04 275 15 17
13011-06-05SP | R3/8"x19 | 8 | 05 | 265 | 15 | 17
13011-06-06SP__ R3/8"X19 10 06 275 15 17
13011-06-08SP | R3/8"x19 | 12 | 08 | 30 | 15 | 19
13011-08-06SP  R1/2"X14 10 06 345 20 22
13011-08-08SP | R1/2'x14 | 12 | 08 | 35 | 20 | 22
13011-08-10SP  R1/2"X14 16 10 38 20 22
13011-08-12sP | R1/2'x14 | 20 | 12 | 38 | 20 | 27
13011-12-08SP  R3/4"X14 12 08 37 20 27
13011-12-108P | R3/4"x14 | 16 | 10 | 38 | 20 | 27
13011-12-12SP  R3/4"X14 20 12 385 20 27
13011-12-16SP_| R3/4'x14 | 25 | 16 | 305 | 20 | 32
13011-16-12SP R1"X11 20 12 44 255 36
13011-16-16SP |  R1"x11__| 25 | 16 | 45 | 255 | 36
13011-20-20SP  R1.1/4"X11 32 20 495 265 46
13011-24-24SP | R1.1/2'x11_| 40 | 24 | 525 | 265 | 50
13011-32-24SP R2"X11 40 24 57 30 65
13011-32-32sP | Rox11 | 50 | 32 | 57 | 30 | 5

B-10




HOSE FITTING

14211
E HOSE BORE 0 DIMENSIONS
PART NO. THREAD E | DN DASH O-RING B S1
| 14211-04-04 9/16"X18 6 04 0011 225 | 98 | 17
| 14211-06-04 11/16"X16 6 04 0012 24 | 112 | 19
| 14211-06-06 11/16"X16 10 06 0012 24 | 112 | 19
| 14211-08-06 13/16"X16 10 06 Q014 275 | 128 | 22
| 14211-08-08 13/16"X16 12 08 Q014 285 | 128 | 22
| 14211-08-10 13/16"X16 16 10 0014 285 | 128 | 22
| 14211-10-08 1"X14 12 08 Q016 325 | 155 | 27
| 14211-10-10 1"X14 16 10 0016 335 | 155 | 27
| 14211-12-08 1,3/16"X12 12 08 Q018 355 | 17 | 32
| 14211-12-10 1.3/16"X12 16 10 0018 36 | 17 | 32
| 14211-12-12 1,3/16"X12 20 12 Q018 365 | 17 | 32
| 14211-16-12 1.7/16"X12 20 12 0021 37z 1175 | 38
| 14211-16-16 1.7/16"X12 25 16 0021 385 | 175 | 38
14211-20-20 | 1.11/16"X12 32 20 0025 415 | 175 | 46
14211-24-24 2'X12 40 24 0029 465 | 175 | 55

B-11




HOSE FITTING

N, S 15611
+’ _ _ || || || || _ NPT MALE

E HOSE BORE DIMENSIONS
PART NO. THREADE DN DASH N
15611-02-03 |  71/8"X27 | 5 | 03 | | 215 | 105 | 12
15611-02-04 71/8"X27 6 04 225 105 12
15611-04-03 |  z1/a"x18 | 5 | 03 | | 27 | 15 | 17
15611-04-04 71/4"X18 6 04 28 15 17
15611-04-05 |  z1/a"x18 | 8 | 05 | | 28 | 15 | 17
15611-04-06 71/4"X18 10 06 28 15 17
15611-06-04 |  73/8"X18 | 6 | 04 | | 28 | 16 | 19
15611-06-05 73/8"X18 8 05 29 16 19
15611-06-06 |  73/8"X18 | 10 | 06 | | 20 | 16 | 19
15611-06-08 73/8"X18 12 08 305 16 19
15611-08-06 | z1/2'Xx14 | 10 | o6 | | 34 [ 105 | 22
15611-08-08 71/2"'X14 12 08 345 195 22
15611-08-10 | z1/2"X14 | 16 | 10 | | 355 | 195 | 22
15611-12-08 73/4"X14 12 08 375 195 27
15611-12-10 | z3/4"x14 | 16 | 10 | | 375 [ 195 | 27
15611-12-12 73/4"X14 20 12 385 195 27
15611-12-16 | z3/a"x14 | 25 | 16 | | 395 | 195 | 32
15611-16-10 Z1"X11.5 16 10 45 255 36
15611-16-12 | z4"X115 | 20 | 12 | | 45 [ 255 | 36
15611-16-16 Z1"X11.5 25 16 465 255 36
15611-20-16 | 71.1/4"X11.5 | 25 | 16 | | 40 | 265 | 46
15611-20-20  Z1.1/4"X11.5 32 20 50.5 265 46
15611-24-24 | 71.1/2'X11.5 | 40 | 24 | | 51 | 275 [ s0
15611-32-32 72"X11.5 50 32 55 275 65




SWAGED HOSE FITTING

16011

SAE

SAE O-RING MALE
ISO 11926--SAE J1926

O

E HOSE BORE o DIMENSIONS
PART NO. THREAD E DN DASH ORING A c S1
16011-04-04 | 7/16"x20 | 6 | 04 0904 | 215 9.1 14
16011-05-04 1/2"X20 6 04 0905 215 9.1 17
16011-06-05 | 9/16"x18 | 8 | 05 0906 | 225 9.9 17
16011-06-06 9/16"X18 10 06 0906 225 9.9 17
16011-08-06 |  3/4"x16 | 10 | 06 0908 | 235 11.1 22
16011-08-08 3/4"X16 12 08 0908 24 11.1 22
16011-10-08 | 7/8"x14 | 12 | 08 0910 | 30 12.7 27
16011-10-10 7/8"X14 16 10 0910 31 12.7 27
16011-12-10 | 1.1116"x12 | 16 | 10 o912 | 34 15.1 32
16011-12-12 1.1/16"X12 20 12 0912 34 15.1 32
16011-16-16 | 1516'x12 | 25 | 16 o916 | 36 15.1 38
1. 2. 16012-xx-XX

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is 16012-xx-xx.

B-13




SWAGED HOSE FITTING

16711

JIC 74
JIC MALE 74CONE

ISO 8434-2--SAE J514

E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A c s
16711-04-03 7/16"X20 5 | 03 | 26 | 14 | 1
16711-04-04 7/16"X20 6 04 265 14 12
16711-05-04 1/2"X20 6 | 04 1265 | 14 | 14
16711-05-05 1/2"X20 8 05 265 14 14
16711-05-06 1/2"X20 10 | 06 | 265 | 14 | 17
16711-06-04 9/16"X18 6 04 265 141 17
16711-06-05 9/16"X18 8 | 05 | 265 | 141 | 17
16711-06-06 9/16"X18 10 06 265 141 17
16711-08-06 3/4"X16 10 | 06 | 315 | 167 | 22
16711-08-08 3/4"X16 12 08 32 167 22
16711-10-06 7/8"X14 10 | 06 | 335 | 193 | 24
16711-10-08 7/8"X14 12 08 34 193 24
16711-10-10 7/8"X14 16 | 10 | 35 | 193 | 24
16711-12-08 1.116"X12 12 08 385 219 30
16711-12-10 1.1/16"X12 16 | 10 | 305 | 219 | 30
16711-12-12 1.116"X12 20 12 40 219 30
16711-12-16 1.1/16"X12 25 | 16 | 42 | 219 | 30
16711-14-10 1.316"X12 16 10 415 226 32
16711-14-12 1.3/16"X12 20 | 12 | 405 | 226 | 32
16711-16-12 1.5/16"X12 20 12 43 231 36
16711-16-16 1.5/16"X12 25 | 16 | 435 | 231 | 36
16711-20-16 1.5/8"X12 25 16 47 243 46
16711-20-20 1.5/8"X12 32 | 20 | 475 | 243 | 46
16711-24-20 1.7/8"X12 32 20 53 275 50
16711-24-24 1.7/8"X12 40 | 24 | 53 | 275 | 50
16711-32-32 2.1/2"X12 50 32 62 339 65

1 2.1 6712-XX-XX

Note: 1.For use with braided hoses.

2.1f use with spiral hoses, hose fitting series number is 167 12-xx-xx.

B-14




HOSE FITTING

A

C

LA
74(>@-
™

I

SIS, ///%/!—l’j

|

—Xs1

16711L

JIC

74

JIC MALE 74 CONE

E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A c | s1
16711L-04-04 7/16"X20 6 04 43 1305 | 17
16711L-05-04 1/2"X20 6 04 43 1305 | 19
16711L-05-05 1/2"X20 8 05 43 1305 | 19
16711L-06-04 9/16"X18 6 04 47 | 325 | 22
16711L-06-05 9/16"X18 8 05 47 | 325 | 22
16711L-06-06 9/16"X18 10 06 47 1325 | 22
16711L-08-06 3/4"X16 10 06 51 | 365 | 24
16711L-08-08 3/4"X16 12 08 515 | 365 | 24
16711L-10-06 7/8"X14 10 06 565 | 40 | 30
16711L-10-08 7/8"X14 12 08 57 | 40 | 30
16711L-10-10 7/8"X14 16 10 58 | 40 | 30
16711L-12-08 1.1/16"X12 12 08 63 | 445 | 36
16711L-12-10 1,1/16"X12 16 10 64 | 445 | 36
16711L-12-12 1.1/16"X12 20 12 64 | 445 | 36
16711L-16-12 1,5/16"X12 20 12 66 | 445 | 41
16711L-16-16 1.5/16"X12 25 16 67 | 445 | 41
16711L-20-16 1,5/8"X12 25 16 705 | 457 | 50
16711L-20-20 1.5/8"X12 32 20 712 | 457 | 50
16711L-24-20 1.7/8"X12 32 20 715 | 46 | 55
16711L-24-24 1.7/8"X12 40 24 715 | 46 | 55

B-15



SWAGED HOSE FITTING

A
C 17811
o0 S ] SAE 90
__J SAE MALE 90?CONE
N SAE J513
S1

E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A c S
178110404 | 7/16"x20 | 6 | 04 | | 255 | 127 | 12
17811-05-05 1/2"X20 8 05 27 142 14
17811-06-06 | 5/8'x18 | 10 | 06 | | 285 | 157 | 17
17811-08-08 3/4"X16 12 08 34 19 22
17811-10-10 | 7/8"x14 | 16 | 10 | | 385 | 224 | 24
17811-12-12 1.1/16"X14 20 12 44 254 30
1. 2. 17812-xx-xx

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is 17812-xx-xx.

B-16




SWAGED HOSE FITTING

18611

607
JIS METRIC MALE 60%:ONE SEAT

B S1
E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A B S1
18611-14-04 | M14x15 | 6 | o4 | | 205 | 17 | 17
18611-16-04 M16X1.5 6 04 30.5 18 17
18611-16-06 | M16x1.5 | 10 | o6 | | 305 | 18 | 17
18611-18-06 M18X1.5 10 06 30.5 18 19
18611-20-08 | M20x1.5 | 12 | 08 | | 35 | 20 | 22
18611-22-08 M22X1.5 12 08 355 20 24
18611-24-10 | M24x1.5 | 16 | 10 | | 305 | 215 | 27
18611-30-12 M30X1.5 20 12 455 26 32
18611-33-16 | M33x1.5 | 25 | 16 | | so05 | 30 | 36
18611-36-20 M36X1.5 32 20 56.5 33 38
186114224 | M42x1.5 | 40 | 24 | | s05 | 36 | 46
1 2 18612-xx-XX

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 18612-xx-xx.




HOSE FITTING

A
B
19611
L]
o - - —
(o@é 60
P JISBSPP MALE 60 CONE SEAT
S1
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A B S1
19611-04-04 G1/4"X19 6 04 29 16 17
19611-06-06 G3/8"X19 10 06 31 18 19
19611-08-08 G1/2"X14 12 08 35.5 20 22
19611-12-12 G3/4"X14 20 12 41 22 30
19611-16-16 G1"X11 25 16 455 24 36
1. 2. 19612-xx-xx
Note: 1.For use with braided hoses. 2.1f use with spiral hoses, hose fitting series number is 19612-xx-xx.

B-18




HOSE FITTING

c/‘////ﬂ.'., nR—
—— [

=

20011-ST

METRIC FEMALE WATERWASH INSERTS

E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A d D
20011-22-03ST M22X1.5 5 03 24.5 14 34.5
20011-22-04ST M22X1.5 6 04 25 14 34.5
20011-22-05ST M22X1.5 8 05 25 14 34.5
20011-22-06ST M22X1.5 10 06 25 14 34.5
C
S 10611
60° [ Wi - —
60
METRIC MALEG6OCONE SEAT
E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C S1
10611-22-04 M22X1.5 6 04 30.5 14 27
10611-22-05 M22X1.5 8 05 30.5 14 27
10611-22-06 M22X1.5 10 06 30.5 14 27

A B
IM-R
‘\
60 | 4| 4 w  leo 60
METRIC MALE 60SEAT
S1
THREAD DIMENSIONS

PART NO. E F A B L S1

1M-22R M22X1.5 M22X1.5 14 14 36 24

STANDARD O-RING NBR

B-19




SWAGED HOSE FITTING

-----

20011-T

7.2, ——

METRIC FEMALE WATERWASH INSERTS

E HOSE BORE o DIMENSIONS

THREAD E DN DASH ORING A d D
20011-22-04T |  M22x15 | 6 | 04 loto.ox20| 327 | 14 | 345
20011-22-05T M22X1.5 8 05 010.0X2.0 327 14 345
20011-22-06T |  wm22x15 | 10 | 06 loto.ox20] 327 | 14 | 345

B-20




HOSE FITTING

C A C A
N
Ll [l < Hakd &
\S2
S2
20111 20111-T METRIC FEMALE MULTISEAL
E HOSE BORE i/ENSION

PART NO. THREAD E DN DASH A C S2
'_20111-10-03 M10X1 5 03 18 2.5 14
20111-10-04 M10X1 6 04 18 2.5 14
20111-12-04 M12X1.5 6 04 18.5 4 17
20111-12-05 M12X1.5 8 05 18.5 4 17
__20111-14—04 M14X1.5 6 04 19.5 4.5 19
20111-14-05 M14X1.5 8 05 19.5 4.5 19
20111-16-04 M16X1.5 6 04 19.5 4.5 22
20111-16-05 M16X1.5 8 05 20 4.5 22
_20111-16—06 M16X1.5 10 06 20 4.5 22
_20111—18—05T M18X1.5 8 05 21.5 4 24
_20111-18—06 M18X1.5 10 06 21 5 4 24
_20111-18-08 M18X1.5 12 08 Q 4 24
20111-20-06T M20X1.5 10 06 20.5 55 24
|__20111-20-08 M20X1.5 12 08 23 55 27
| _20111-22-06T M22X1.5 10 06 23 5 27
| 20111-22-08 M22X1.5 12 08 23.5 5 27
| 20111-22-10 M22X1.5 16 10 24.5 5 27
20111-24-08T M24X1.5 12 08 22 55 30
20111-24-10 M24X1.5 16 10 26 5 30
| 20111-27-08DT | M27X1.5 12 08 23 55 32
| 20111-27-10DT_| _M27X1.5 16 10 26 55 32
20111-27-12D M27X1.5 20 12 __26 55 32
| _20111-27-10T M27X2 16 10 26 7 32
20111-30-12D M30X1.5 20 12 26.5 6 36
20111-30-12 M30X2 20 12 26.5 7 36
20111-36-12T M36X2 20 12 _26 7 41
20111-36-14T M36X2 2 14 26 7 41
Eo111-39-14T M39X2 22 14 28.5 7 46
20111-39-16T M39X2 25 16 29.5 7 46
| _20111-42-16T M42X2 725 16 30 85 50
20111-45-20T M45X2 32 20 31.5 8.5 55
|_20111-52-20T M52X2 32 20 33 9 60
__20111-5@4T M52X2 40 24 33 9 60
_201 11-64-32T M64X2 50 32 35 14 75

1

Note: 1.For use with braided hoses.

2.

20112-xx-xx

2.If use with spiral hoses, hose fitting series number is 20112-xx-xx.

B-21



HOSE FITTING

20141 20141-T
45
45 METRIC FEMALE MULTISEAL
E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C H S2

| 20141-10-03 M10X1 5 03 411 | 25 1207 | 14

| 20141-10-04 M10X1 6 04 432 | 25 1215 14

| 20141-12:03 M12X1.5 5 03 409 | 4 12121 17

| 20141-12-04 M12X1.5 6 04 43 4 22 17

| 20141-14-04 M14X1.5 6 04 434 | 45 12131 19

20141-14-05 M14X15 8 05 455 | 45 12221 19
| 20141-16-04 M16X1.5 6 04 437 | 45 1214 22
| 20141-16-05 M16X1.5 8 05 458 | 45 | 225 | 22

20141-16-06 M16X1.5 10 06 474 | 45 | 241 22

20141-18-05T M18X1.5 8 05 468 | 4 226 | 24

| 20141-18-06 M18X1.5 10 06 485 | 4 242 24

20141-18-08 M18X1.5 12 08 522 | 4 Jo57 | 24
| 20141-20-06T M20X1.5 10 06 482 | 55 | 239 | 27
| 20141-20-08 M20X1.5 12 08 621 | 55 1272 27 |
| 20141-22-06T M22X1.5 10 06 584 | 5 12571 27 |
| 20141-22-08 M22X1.5 12 08 62.1 5 12721 27 |

| 20141-24-08T M24X1.5 12 08 611 | 55 1261 ] 30

| 20141-24-10 M24X1.5 16 10 754 | 5 12961 30

20141-27-10DT | M27X15 16 10 744 | 55 296 | 32

20141-27-10T M27X2 16 10 744 | 55 296 | 32

| 20141-30-12D M30X1.5 20 12 809 | 6 |335] 36

20141-30-12 M30X2 20 12 809 | 6 1335] 36

| 20141-36-14T M36X2 22 14 83 7_13264] 41

| 20141-39-16T M39X2 25 16 882 | 7 13395 46

| 20141-45-20T M45X2 32 20 991 | 85 1384 | 55

| 20141-52-24T M52X2 40 24 141 ] 9 14341 60

1.

Note: 1.For use with braided hoses.

2.

20142-xx-xx

2.If use with spiral hoses, hose fitting series number is 20142-xx-xx.

B-22



SWAGED HOSE FITTING

A A
T
* S2
E S2
a0
20191 20191-T 90METRIC FEMALE MULTISEAL
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A C H S2
20191-10-03 | M10X1 5 1 03 | | 27 | 25 13551 14
20191-12-04 M12X1.5 6 04 30 4 375 17
20191-14-04 | M14X15 6 | 04 | | 30 45 38 | 19
20191-14-05 M14X1.5 8 05 33 45 41 19
20191-16-04 | M16X1.5 6 | 04 | | 30 1 45 13851 19
20191-16-05 M16X1.5 8 05 33 45 415 22
20191-16-06 | M16X1.5 10 | 06 | | 353 | 45 | 438 | 22
20191-18-05T M18X1.5 8 » 05 R 43 24
20191-18-06 M18X1.5 10 | 06 | | 353 1 4 lasa |l 24
20191-18-08 M18X1.5 12 08 40.5 4 505 24
20191-20-06T | M20X1.5 10 | 06 | | 353 | 55 | 438 | 24
20191-20-08 M20X1.5 12 08 41 55 52 o7
-22- M22X1.5 10 | 06 | | 358 | 5 | 7681 27
20191-22-08 M22X1.5 12 08 41 5 525 27
20191-24-08T | M24X15 12 | 08 | | 41 1 55 1 511 a0
20191-24-10 M24X1.5 16 10 58 5 585 30
20191-27-10DT | M27x1.5 16 | 10 | | 56 | 55 | 5551 32
20191-27-10T M27X2 16 10 56 55 555 32
20191-30-12D M30X1.5 20 | 12 | l 6751 6 16851 36
20191-30-12 M30X2 20 12 67.5 6 685 36
20191-36-12T_| M36X2 20 | 12 | less 1 7 | 68 | 41
20191-36-14T M36X2 22 14 71.2 7 69 41
20191-39-16T_| M39X2 25 | 16 | | 7671 7 17351 46
20191-45-20T M45X2 32 20 915 85 55
20191-52-247 | M52x2 40 | 24 | | 10041 9 | 1001 60
20191-64-32T MB4X2 50 32 13175 14 1223 75
. 2. 20192-xx-xx
Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 20192-xx-xx.

B-23



HOSE FITTING

GB METRIC FEMALE FLAT SEAT

20211 20211-T R EF. GB/T 9065.3
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A C S2__
20211-10-02 M10X1 4 02 14 6 14
20211-12-03 M12X1.25 5 03 14 8 17
20211-14-04 M14X1.5 6 04 155 8 5 19
20211-14-05 M14X1.5 8 05 155 8.5 19
20211-16-04 M16X1.5 6 04 16.5 8 22
20211-16-05 M16X1.5 8 05 16.5 8 22
20211-16-06 M16X1.5 10 06 16.5 8 22
20211-18-05T M18X1.5 8 05 17.5 8 24
‘ 20211-18-06 M18X1.5 10 06 17.5 8 24
20211-20-06T M20X1.5 10 06 16 10 24
20211-20-08 M20X1.5 12 08 18 5 10 27
20211-22-06T M22X1.5 10 06 16 10 27
20211-22-08 M22X1.5 12 08 18 5 10 27
20211-22-10 M22X1.5 16 10 195 10 27
20211-24-08T M24X1.5 12 08 16.5 11 30
20211-24-10 M24X1.5 16 10 20.5 10.5 30
20211-27-08T M27X1.5 12 08 18.5 10 32
20211-27-10T M27X1.5 16 10 19.5 10 32
20211-30-12 M30X1.5 20 12 21.5 11 36
20211-33-14 M33X2 22 14 215 13 41
20211-36-12T M36X2 20 12 20 13 41
20211-36-14T M36X2 22 14 20 13 41
20211-39-16T M39X2 25 16 23.5 13 46
20211-42-20 M42X2 32 20 26 15 50
20211-45-20T M45X2 32 20 25 15 55
20211-52-24T M52X2 40 24 25 17 60
20211-60-28T M60X2 45 28 26 20 70
20211-64-32T M64X2 50 32 26 23 75
1 2. 20212-xx-Xx

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 20212-xx-xx.

B-24



HOSE FITTING

A
& / /
S2
30
30?METRIC FEMALE FLAT SEAT
20231 20231-T REF. GB/T 9065.3
E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C H S2
20231-22-08 M22X1.5 12 08 633 | 10 15 | 27
20231-27-10T M27X1.5 16 10 73.7 10 15.1 32
20231-30-12 M30X1.5 20 12 84.4 11 18.6 36
20231-36-12T M36X2 20 12 925 | 13 1188 | 41
20231-39-16T M39X2 2_5 16 902 11_3 17.§ 46
20231-45-20T M45X_2 32 20 102.8 15 20 55
20231-52-24T M52X_2 40 24 116.2 17 21.8 60

1. 2. 20232-xx-xX

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 20232-xx-xx.

B-25



SWAGED HOSE FITTING

A
C
45
457METRIC FEMALE FLAT SEAT
20241 20241-T REF. GB/T 9065.3
E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C H | s2
20241-14-04 M14X1.5 6 04 405 | 85 | 185 ] 19
20241-14-05 M14X1.5 8 05 427 85 193 19
20241-16-05 | Mi1ex15 | 8 | 05 | | 444 | 85 | 20 | 22
20241-18-06 M18X1.5 10 06 457 8 214 24
20241-22-08 | m22x15 | 12 | 08 | Isso ]l 10 | 24 | 27
20241-27-10T M27X1.5 16 10 686 10 243 32
20241-30-12 | M30x1.5 | 20 | 12 | [781 ] 11 | 301 36
20241-36-12T M36X2 20 12 75 13 275 41
20241-36-14T |  M3ex2 | 22 | 14 | 7731 13 | 27 | a1
20241-36-16 M36X2 25 16 857 13 315 41
20241-39-16T | m3ox2 | 25 | 16 | | 830 | 13 |207 | 46
20241-42-20 M42X2 32 20 973 15 366 50
20241-45-20T | masx2 | 32 | 20 | losas5 | 15 l338] 55
20241-52-20T M52X2 32 20 945 17 338 60
20241-5224T | wms2x2 | 40 | 24 | L1085 17 13771 e0
20241-60-28T M60X2 45 28 1187 20 436 70
20241-64-32T | meax2 | 50 | 32 | l1278] 23 456 | 75
1. 2. 20242-xx-XX

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 20242-xx-xx.

B-26



HOSE FITTING

A A
|‘ //,/
/
I T
9 S2 S S2
90
90?METRIC FEMALE FLAT SEAT
20291 20291-T REF. GB/T 9065.3
E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C H S2
20291-12-02 M12X1.25 4 02 265 8 30.5 17
20291-12-04 M12X1.25 6 04 30 8 33.5 17
20291-14-04 M14X1.5 6 04 30 8.5 34 19
20291-14-05 M14X1.5 8 05 33 8.5 37 19
20291-16-04 M16X1.5 6 04 30 8 35 22
20291-16-05 M16X1.5 8 05 34 8 38 22
20291-16-06 M16X1.5 10 06 35.3 8 40.3 22
20291-18-05T M18X1.5 8 05 33 8 39 24
20291-18-06 M18X1.5 10 06 35.75 8 41.3 24
20291-22-08 M22X1.5 12 08 41 10 48 27
20291-22-10 M22X1.5 16 10 57.5 10 53 27
20291-24-08T M24X1.5 12 08 41 11 455 30
20291-27-04T M27X1.5 6 04 30 10 35.5 32
20291-27-08T M27X1.5 12 08 41 10 46 32_'
20291-27-10T M27X1.5 16 10 56 10 51 32
20291-30-12 M30X1.5 20 12 66.2 11 63.5 36
20291-33-14 M33X2 22 14 71.2 13 65 41
20291-36-14T M36X2 22 14 1.2 13 61 41
20291-36-16 M36X2 25 16 76.7 13 70 41
20291-39-16T M39X2 25 16 76.7 13 67.5 46
20291-42-20 M42X2 32 20 91.5 15 82.5 50
20291-45-20T M45X2 32 20 915 15 78.5 55 |
20291-52-20T M52X2 32 20 91.5 17 78.5 60
20291-52-24T M52ﬂ 40 24 109.4 17 92 60
20291-60-28T M60X2 45 28 119.9 20 106.5 70
20291-64-32T M64X2 50 32 13095 | 23 1133 Zo!

1

Note: 1.For use with braided hoses.

2

20292-xx-xx

2.If use with spiral hoses, hose fitting series number is 20292-xx-xx.

B-27



SWAGED HOSE FITTING

A A
20411 20411-T
24 O

METRIC FEMALE 24CONE O-RING L.T.
ISO 12151-2--DIN 3865

E HOSE BORE 0 DIMENSIONS |
PARTNO.  THREADE DN DASH TUBEOD. ORING A C S2
20411-12-04 | M12x1.5 | 6 | o4 | 6 looasxis] 26 | 1 | 17
20411-14-04 M14X1.5 6 04 8 006.5X15 275 2 19 |
204111406 | miax15 ] 10 | o6 | 8 Jooesxts| 275 | 2 | 19 |
20411-16-04 M16X1.5 6 04 10 008.0X15 28 2 22 |
20411-16-05 | M16x1.5 | 8 | 5 | 10 loosoxts] 28 I 2 | 22 |
20411-16-06 M16X1.5 10 06 10 008.0X15 28 2 22
20411-18-05T | M18x1.5 | 8 | 05 | 12 lotoox15] 245 | 15 | 22
20411-18-06 M18X1.5 10 06 12 010.0X1.5 29 25 24 |
20411-18-08 | m18x1.5 | 12 | 8 | 12 lotox1s5] 295 | 25 | 24 |
20411-22-05T  M22X1.5 8 05 15 012.0X2.0 265 3 27 |
20411-22-06T | M22x1.5 | 10 | o | 15 Jot2oxeol 265 1 3 | 27
20411-22-08 M22X1.5 12 08 15 012.0X2.0 32 25 27
20411-26-10_ | M26x15 | 6 1 10 | 18 Jotsoxeol 345 | 25 | 32 |
20411-26-12 M26X1.5 20 12 18 015.0x2.0 35 25 32
20411-27-10T_|__M27x1.5 | 16| 10 | 18 lowsoxeol 35 | 21 | 232
20411-27-12 M27X1.5 20 12 18 015.0X2.0 35 25 32 |
20411-30-10T | m3ox2 | 16 | 10 | 22 Jozoox20l 31 | 38 | 36
20411-30-12  M30X2 20 12 22 020.0X2.0 39 4 36
20411-36-12T | m3ex2 | 20 | 12 | 28 |ozoxeol 33 | 45 | 46
20411-36-14T M36X2 22 14 28 026.0X2.0 33 45 46
2041145167 | masx2 | 25 | 16 | 35 loseoxes| 37 | a | s5 |
20411-45-20T M45X2 32 20 35 032.0Xx25 375 4 55 |
20411-52-20T | ms52x2 | 22 | 20 | 42 lossoxes] 385 | 4 | e0 |
20411-52-24T M52X2 40 24 42 038.0X2.5 385 4 60 |

1. 2. 20412-xx-Xx

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 20412-xx-xx.

B-28



SWAGED HOSE FITTING

C A C A
wl L L
30 S2
20411C 20411C-T
24
METRIC FEMALE MULTISEAL L.T.
E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH TUBEOD. A c S1

[ 20411c12:04 | Mm12x15 6 | 04 | 6 | 195 35 | 17
20411C-14-04 M14X1.5 6 04 8 20.5 35 19

| 20411c-16-04 |  Mm16X1.5 6 | 04 | 10 | 21 35 | 22
20411C-16-05 M16X1.5 8 , 05 10 21 35 22
20411C-16-06 | M16X1.5 10 | 06 | 10 | 21 35 | 22
20411C-18-06 M18X1.5 10 06 12 225 3 24

[ 20411c2206T | wm22x1.5 10 | 06 | 15 | 235 45 | 27
20411C-22-08 M22X1.5 12 08 15 24 45 27
20411C-26-10 | M26X15 16 | 10 | 18 | o7 4 | 3
20411C-30-10T M30X2 16 10 22 26.5 7 36
20411C-30-12 | M30x2 20 | 12 | 22 | 27 7 | 36
20411C-30-14 M30X2 22 14 22 27 7 36

[ 20411c-36-16 |  Mm36X2 25 | 16 | 28 | 29 65 | 41
20411C-45-20T M45X2 32 20 35 33 7 55

| 20411c52-247 | ws2x2 40 | 24 | 42 | 34 8 | 60

1. 2. 20412C-xx-xx

Note: 1.For use with braided hoses.

2.1f use with spiral hoses, hose fitting series number is 20412C-xx-xx.

B-29




SWAGED HOSE FITTING

et
A

ot B L

20441 20441-T
45 24 0]
45METRIC FEMALE 24CONE O-RING L.T.
ISO 12151-2DIN 3865

E HOSE BORE o DIMENSIONS
PARTNO. THREAD E DN DASH TUBEO.D. O RING A C H S2
20441-14-04 | Mm14x1.5 | 6 | o0a | 8 | ooesxts |49 ] 2 | 27 ] 19
20441-16-05  M16X1.5 8 05 10 008.0X1.5 515 2 282 22
20441-16-06 | M16X1.5 | 10 | o6 | 10 | oosox1s |534) 2 |292 | 22
20441-18-05T  M18X1.5 8 05 12 010.0X1.5 466 15 232 22
20441-18-06 | M18X1.5 | 10 | 06 | 12 | o100x15 542 25 | 299 | 24
20441-22-05T  M22X1.5 8 05 15 012.0X2.0 465 3 232 27
20441-22-06T | M22x1.5 | 10 | o6 | 15 | otz2.0x20 l485] 3 J242] 27
20441-22-08  M22X1.5 12 08 15 012.0X2.0 681 25 332 27
20441-26-08T | M26x1.5 | 12 | o8 | 18 | ots0x20 l606) 21 J257] 32
20441-26-10  M26X1.5 16 10 18 015.0X2.0 807 25 359 32
20441-26-12 | m2ex15 ] 20 | 12 | 18 | o15.0x2.0 |s69| 25 | 3905 | 32
20441-27-10T  M27X1.5 16 10 18 015.0X2.0 72 241 277 32
20441-27-12_ | M27x1.5 | 20 | 12 | 18 | o15.0x2.0 1869l 25 | 395 | 32
20441-30-10T  M30X2 16 10 22 020.0X2.0 735 3.8 286 36
20441-30-12_ | Mm3ox2 | 20 | 12 | 22 | o0200x20l89.1) 4 [a17] 36
20441-36-12T  M36X2 20 12 28 026.0X2.0 795 45 321 46
20441-36-14T7 | Mm36x2_| 22 | 14 | 28 | o2e.0x20 l819l45 |316] 46
20441-45-20T  MA45X2 32 20 35 032.0X25 998 4 3941 55
2044152207 | ws2x2 | 32 | 20 | a2 | o3soxes | 102] 4 | 398 | 60
20441-52-24T  M52X2 40 24 42 038.0X2.5 1145 4 437 60
1 2 20442-xx-Xx

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is 2044 2-xx-xx.

B-30




HOSE FITTING

u =
S2
20441C 20441C-T
45 24 DIN 3868
45?METRIC FEMALE MULTISEAL L.T.DIN 3868
E HOSE BORE D IMENSIONS

PART NO. THREAD E DN DASH | TUBEOD. | A C H | s2

| 20441C-14-04 M14X1.5 6 04 8 44 | 35 | 22 | 19

20441C-16-04 M16X1.5 6 04 10 448 | 35 | 227 | 22
| 20441C-16-05 M16X1.5 8 05 10 466 | 35 | 232 | 22 |

| 20441C-16-06 M16X1.5 10 06 10 482 | 35 | 239 | 22
| 20441C-18-06 M18X1.5 10 06 12 50 3 | 257 | 24

| 20441C-22-06T M22X1.5 10 06 15 508 | 45 | 26 | 27
| 20441C-22-08 M22X1.5 12 08 15 628 | 45 | 279 | 27 |
| 20441C-26-10 M26X1.5 16 10 18 751 | 4 | 306 | 32

| 20441C-30-10T M30X2 16 10 22 747 | 7 | 209 | 36

| 20441C-30-12 M30X2 20 12 22 82 7 | 335 | 36

| 20441C-30-14 M30X2 22 14 22 838 | 7 | 333 | 36

| 20441C-36-12 M36X2 20 12 28 802 | 65 | 328 | 41

| 20441C-36-16 M36X2 25 16 28 896 | 65 | 357 | 41

| 20441C-36-18 M36X2 28 18 28 965 | 65 | 304 | 41

| 20441C-45-20T M45X2 32 20 35 10231 7 | 415 | 55

20441C-52-24T M52X2 40 24 42 1169 | 8 | 462 | 60

1.

Note: 1.For use with braided hoses.

2.

20442C-xx-xx

2.1f use with spiral hoses, hose fitting series number is 20442C-xx-xx.

B-31



SWAGED HOSE FITTING

- e
V
i
O
52
= 24
20491 20491-T
90 24
90METRIC FEMALE 24CONE O-RING L.T.
ISO 12151-2--DIN 3865
E HOSE BORE 0 DIMENSIONS
PARTNO.  THREAD E DN DASH TUBEOD. O RING A C H S2
[ 20491-12-03 | m12x15 | 5 Il o3 | 6 looasx1is l2es| 1 |35 | 17
20491-12-04  M12X1.5 6 04 6 0045X15 30 1 445 17
[ 20491-14-04 | m1ax15 | 6 | 04 1 8 Jooesxis ] 301 2 138 ] 19
20491-16-04  M16X1.5 6 04 10 008.0X1.5 30 2 39 22
[ 20491-16-05 | m1ex15 | 8 Il o5 I 10 loosoxis |l 33 ] 2 lal 22
20491-16-06  M16X1.5 10 06 10 008.0X1.5 353 2 518 22
[ 20491-18-05T | m18x1.5 | 8 Il o5 | 12 lotox1is | 33 |15 Jao5 | 22
20491-18-06  M18X1.5 10 06 12 010.0X1.5 353 25 443 24
[ 20491-22-06T | M22x1.5 | 10 | 0w | 15 lo120x20 I353] 3 la4a8| 27
20491-22-08  M22X1.5 12 08 15 012.0X20 41 25 52 27
[ 20491-26-08T | M26Xx1.5 12 | o8 | 18 lo1soxeo |l 41 121 151 | 32
20491-26-10  M26X1.5 16 10 18 015.0X20 56 25 585 32
[ 20491-26-12 | M26x1.5 20 | 12 | 18 lotsoxeo lesagl 25 |77 | 32
20491-27-10T  M27X15 16 10 18 015.0X2.0 56 2.1 549 32
[ 20491-27-12 | m27x15 | 20 | 12 | 18 lo1s0x20 le4o)l 25 | 77 | 32
20491-30-10T  M30X2 16 10 22 020.0x2.0 56 3.8 572 36
| 20491-30-12 | Mm3ox2 | 20 | 12 | 22 lo200x20 |6551 4 |63 | 36
20491-36-12T  M36X2 20 12 28 026.0X2.0 655 45 665 46
| 20491-36-147 | m3ex2 | 22 | 14 | 28 |ooeox20 7121 45 le75 | 46
20491-45-16T  M45X2 25 16 35 032.0x25 767 4 75 55
| 2049145207 | masx2 | 32 | 20 | 35 |ozzoxes 19151 4 |8 | 55
20491-52-20T  M52X2 32 20 42 038.0X25 93 4 87 60
| 2049152247 | wms2x2 | 40 | 24 | 42 ] ossoxas |1004] 4 loos| eo
1. 2. 20492-xx-Xx

Note: 1.For use with braided hoses.

2.1f use with spiral hoses, hose fitting series number is 20492-xx-xx.

B-32




HOSE FITTING

20491C 20491C-T
90 24 DIN 3868
90M ETRIC FEMALE 24M ULTISEAL L.T.DIN 3868
E H OSE BORE DIMENSIONS

PART NO. THREAD E DN DASH | TuBEoD. | A | c | H | s2

20491C-14-04 M14X1.5 6 04 8 30 | 35 | 3951 19
20491C-16-04 M16X1.5 6 04 10 30 | 35| 40 | 22 |
| 20491C-16-05 M16X1.5 8 05 10 33 135 ] 43 | 22
20491C-16-06 M16X1.5 10 06 10 35251 35 | 452 | 22 |

20491C-18-06 M18X1.5 10 06 12 3525 3 |a725] 24
20491C-22-08 M22X1.5 12 08 15 41 |45 ] 53 | 27 |
20491C-26-10 M26X1.5 16 10 18 565 4 | 60 | 32 |

20491C-30-12 M30X2 20 12 22 655 | 7 less5 | 36

20491C-36-12T. M36X2 20 12 28 655 | 65 | 675 | 41

1.

Note: 1.For use with braided hoses.

2.

20492C-xx-xx

2.If use with spiral hoses, hose fitting series number is 20492C-xx-xx.

B-33



SWAGED HOSE FITTING

C A
24 |w 5
S2
20511 20511-T
90 24 (@)
90METRIC FEMALE 24CONE O-RING
H.T.ISO 12151-2--DIN 3865
E HOSE BORE o DIMENSIONS
PARTNO. THREAD E DN DASH TUBE O.D. ORING A C S2
20511-14-04 | M16x1.5 | 6 | 04 | 6 looasxis] 20 | 15 | 19
20511-16-04  M16X1.5 6 04 8 006.5X1.5 29 15 22
20511-16-05 | M16x1.5 | 8 | 5 | 8 looesxis] 29 | 15 | 22
20511-18-04T M18X1.5 6 04 10  008.0X15 255 15 22

20511-18-06 | M18x1.5 | 10 | o6 | 10 Joosoxis5] 29 | 2 | 24
20511-20-06T M20X1.5 10 06 12 010.0X15 265 25 24
205112008 | m20x15 | 12 | o8 | 12 Jotooxis] 315 | 25 | 27
20511-22-06T M22X1.5 10 06 14 O11.0X2.0 265 3 27
20511-22-08 | m22x1.5 | 12 | 08 | 14 Jomoxeol 315 | 25 | 27
20511-24-06T M24X1.5 10 06 16 013.0X2.0 27 3 30
20511-24-08T | M24x1.5 | 12 | 08 | 16 Jo1soxeo]l 275 | 3 | 30
20511-30-10T  M30X2 16 10 20  016.3X2.4 33 2.5 36
20511-30-12 | m3ox2 I 20 | 12 | 20 Jote3xeal 39 | 3 | 36
20511-36-12T  M36X2 20 12 25  020.3X2.4 35 3.2 46
20511-36-147 | m3ex2 | 2 | 14 | 25 Jo203x24| 34 | 32 | 46
20511-42-12T  M42X2 20 12 30 0253X24 375 3.9 50
20511-42-16T | M42x2 | 25 | 6 1 30 lo2s3x24| 385 | 39 | 50
20511-52-20T  M52X2 32 20 38  033.3X24 415 45 60
20511-52-247 | m52x2 | 40 | 24 | 38 Jo3z3x24 | 415 | 45 | 60
1. 2. 20512-xx-Xx

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20512-xx-xx.

B-34



HOSE FITTING

A
C A
L w
S2
20511C 20511C-T
24
METRIC FEMALE 24?MULTISEAL H.T.DIN3868
E HOSE BORE D IMENSIONS
PART NO. THREAD E DN DASH | TuBEOD. | A C S2
20511C-18-04T M18X1.5 6 04 10 21 3 22
20511C-20-05T M20X1.5 8 05 12 215 | 45 24
20511C-20-06T M20X1.5 10 06 12 215 | 45 24
20511C-22-06T M22X1.5 10 06 14 215 | 45 27
20511C-24-08T M24X1.5 12 08 16 23 | 5 30
| 20511C-30-10T M30X2 16 10 20 265 7 36
20511C-36-12T M36X2 20 12 25 27 6.5 41
| 20511C-42-16T M42X2 25 16 30 J25] o | 50
20511C-52-20T M52X2 32 20 38 34 8 60

1.

Note: 1.For use with braided hoses.

2.

20512C-xx-xx
2.If use with spiral hoses, hose fitting series number is 20512C-xx-xx.

B-35



SWAGED HOSE FITTING

20541 20541-T
45 24 O
45METRIC FEMALE 24CONE O-RING H.T.
ISO 12151-2--DIN 3865
E HOSE BORE o) D IMENSIONS

PARTNO. THREAD E DN DASH TUBE O.D. O RING A C H S2
| 20541-14-04 | m1ex15 | 6 Il 04 | 6  looasxisl 434 | 15 1213 | 19

20541-16-04  M16X1.5 6 04 8 006.5X15 444 15 223 22
| 20541-16-05 | m16x1.5 | 8 I o5 | 8 looesxis| 466 | 15 | 232 | 22
20541-18-04T M18X1.5 6 04 10  008.0X1.5 437 15 216 22
[ 20541-18-06 | m18x1.5 | 10 | o6 | 10 loosox15] 4814 | 2 1239 | 24
20541-20-06T M20X1.5 10 06 12 0100X1.5 478 25 235 24

20541-20-08 | m2ox1.5 | 12 | 08 | 12 lotoox15] 6814 | 25 | 332 | 27
20541-22-06T M22X1.5 10 06 14 O11.0X2.0 48.1 3 239 27
| 20541-22-08 | m22x15 | 12 I 08 | 14 Jo11oxeoles1 | 25 1332 | 27
20541-24-08T M24X1.5 12 08 16 013.0X2.0 625 3 275 30
20541-30-10T | M30x2 1 1 2 16.3x2.4| 73. 2. 292

20541-30-12  M30X2 20 12 20  016.3X24 77.2 3 303 36
| 20541-36-12T1 | Mm36x2 20 12| 25 Jo203x2.4]| 811 | 3.2 33 46

20541-36-14T  M36X2 22 14 25  0203X24 828 32 325 46
| 20541-42-16T | Mm42x2 | 25 |l 16 | 30  Jo253x24] 906 | 39 1351 | 50

20541-52-20T  M52X2 32 20 38  0333X24 1017 45 394 60

20541-52:24T | _wms52x2 | 40 | 24 | 38 lo3z3xzoal1141 | 45 1434 | 60

1. 2. 20542-xx-xx

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is 20542-xx-xx.

B-36




HOSE FITTING

T L

o = 3
y (T T

H

2
20541C 20541C-T
45 24 DIN 3868
45METRIC FEMALE MULTISEAL H.T.DIN 3868
E HOSE BORE DIMENSIONS
PARTNO. THREAD E DN DASH TUBE O.D. A C H S2
20541C-16-04 | M16x1.5 | 6 | oa | 8 | laas | 3 |227| 19
20541C-18-04T M18X1.5 6 04 10 437 3 216 22
20541C-20-06T | M20x1.5 | 10 | o | 12 | la89 | 45 246 | 24
20541C-24-08T M24X1.5 12 08 16 614 25 265 30
1. 2. 20542C-xx-Xx

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 20542C-xx-xx.

B-37



SWAGED HOSE FITTING

(] T

3 m
S2
HEA
24 24
20591 20591-T
90240
90METRIC FEMALE 24CONE O-RING H.T.
ISO 12151-2DIN 3865
E HOSE BORE o DIMENSIONS
PARTNO. THREAD E DASH TUBE O.D. ORING A C H S2
20591-14-04 | M16x1.5 | 6 Il 04 | 6 looasxis]l 30 | 1.5 I 395 | 19
20591-16-04  M16X1.5 6 04 8 0065X15 30 15 395 22
20591-16-05 | M16x15 | 8 | o5 | 8  loossxisl 33 | 15 | 425 | 22
20591-18-05T M18X1.5 8 05 10  0080X15 33 15 415 22
20591-1806 | m18x15 | 10 | o6 | 10 |oosoxis|l 353 | 2 | 458 | 24
20591-20-06T M20X1.5 10 06 12 010.0X15 353 25 443 24
20591-20-08 | m20x15 | 12 | o8 | 12 lotoox1sl 41 | 25 | 61 | 27
20591-22-06T M22X1.5 10 06 14 O11.0X20 353 3 448 27
20591-22-08 | M22x15 | 12 | 08 | 14  |ottox2ol 41 | 25 | 53 | 27
20591-24-08T M24X1.5 12 08 16 013.0X2.0 41 3 505 30
205912410 | m24ax15 | 16 | 10 | 16 lo1z.oxeol 565 | 25 | 565 | 30
20591-30-10T  M30X2 16 10 20 0163X24 56 25 58 36
20591-30-12 | m3ox2 | 20 I 12 | 20 lo163x24le49 | 3 | 64 | 36
20591-36-12T___M36X2 20 12 25 020.3X2.4 662 32 _67.8 46
20591-36-14T | M36x2 | 22 | 14 | 25 lo203x24] 712 | 32 | 6388 | 46
20591-42-16T  MA42X2 25 16 30 0253X24 78 39 751 50
20591-52-20T | Ms2x2 | 32 | 20 | 38 |o333x24] 93 | 45 |85 | 60
20591-52-24T  M52X2 40 24 38 0333X24 1094 45 100 60
1. 2. 20592-xx-xx

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 20592-xx-xx.

B-38



HOSE FITTING

I
O
E /]
24
20591C 20591C-T
90 24 DIN3868
90METRIC FEMALE MULTISEAL H.T.DIN3868
E HOSE BORE DIMENSIONS
PARTNO.  |THREAD E DN DASH [tuBEobf A | ¢ | H | s2
| 20591C-16-04 | M16X1.5 6 04 8 30 | 3 | 40 | 22
20591C-18-04T | M18X1.5 6 04 10 30 | 3 |385] 22
20591C-20-05T | M20X1.5 8 05 12 33 |45 | 42 | 24
20591C-20-06T | M20X1.5 10 06 12 1353 )45 |457 | 24
| 20591C-22-06T | M22X1.5 10 06 14 1353 |45 |447] 27
20591C-24-08T | M24X1.5 12 08 16 411 5 | 52 1 30
| 20591C-30-10T | M30x2 16 10 20 1565 7 |s65) 36
| 20591C-36-12T | M36X2 20 12 25 |655] 65 | 665 41
20591C-42-16T | M42x2 25 16 30 78 1 9 1735 50
20591C-52-20T | M52X2 32 20 38 93 | 8 |875] 60

1.
Note: 1.For use with braided hoses.

2.

20592C-xx-xx
2.If use with spiral hoses, hose fitting series number is 20592C-xx-xx.

B-39



HOSE FITTING

e

S2 S2
20611 20611-T
60
METRIC FEMALE 60CONE
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A C S2
20611-14-04 M14X1.5 6 04 18 55 19
20611-16-05 M16X1.5 8 05 19 5.5 22
20611-16-06 M16X1.5 10 06 19 55 22 |
20611-18-06 M18X1.5 10 06 20 5.5 24 |
20611-20-08 M20X1.5 12 08 22 6.5 27
20611-22-08 M22X1.5 12 08 22.5 6 27
20611-24-10 M24X1.5 16 10 24.5 6.5 30
20611-26-10 M26X1.5 16 10 25.5 6 32
|__20611-27-10DT M27X1.5 16 10 255 6 32
| 20611-27-10T M27X2 16 10 255 6 32
|___20611-30-10D M30X1.5 16 10 26.5 6 36
|__20611-30-12D M30X1.5 20 12 26.5 6 36
20611-30-12 M30X2 20 12 26.5 6 36
20611-36-16 M36X2 25 16 30 6.5 41
| 20611-39-16T M39X2 25 16 30 6.5 46
| 20611-45-20T M45X2 32 20 31 8.5 55
|__20611-52-24T M52X2 40 24 32 10 60
1. 2. 20612-xx-xx
Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 20612-xx-xx.

B-40



HOSE FITTING

20641 20641-T
45METRIC FEMALE 60CONE
45 60
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A C H S2
|__20641-14-04 M14X1.5 6 04 42.7 5.5 20.6 19
|_20641-16-05 M16X1.5 8 05 451 5.5 21.8 22
20641-18-06 M18X1.5 10 06 47.4 5.5 23.2 24
L 20641-22-08 M22X1.5 12 08 61.8 6 26.8 27
| _20641-27-10DT M27X1.5 16 10 714 6 27.1 32 |
20641-30-12D M30X1.5 20 12 81.6 6 33.5 36
20641-36-14T M36X2 22 14 81.9 6.5 31.6 41
20641-39-16T M39X2 25 16 88.5 6.5 34.3 46
|_20641-45-20T M45X2 32 20 991 8.5 38.4 55
20641-52-24T M52X2 40 24 113.4 10 42.7 60
1. 2. 20642-xx-xx

Note: 1.For use with braided hoses.

2.1f use with spiral hoses, hose fitting series number is 20642-xx-xx.

B-41



SWAGED HOSE FITTING

A A
{:;
L o1
S) S2 O S2
E
60 60
20091 20091-T
90 60
O90METRIC FEMALE 60CONE
E HOSE BORE D IMENSIONS
PART NO. THREAD E DN DASH A c H s2
20691-14-04 | m14x15 | 6 | 04 | | 30 | 55 | 37 | 19
20691-16-05 M16X1.5 8 05 33 55 405 22
20691-18-06 | M18x1.5 | 10 | 06 | | 353 | 55 |43s | 24
20691-22-08 M22X1.5 12 08 41 6 52 27
20691-27-10DT | M27X1.5 | 16 | 10 | | 56 | 6 | 55 | 32
20691-30-12D M30X1.5 20 12 662 6 685 36
20691-36-16 | M3ex2 | 25 | 16 | | 78 | 65 | 765 | 41
20691-36-14T M36X2 22 14 712 65 675 41
20691-39-16T | M39x2 | 25 | 16 | | 767 | 65 | 74 | 46
20691-45-20T MA45X2 32 20 915 85 8 55
2069152247 | ms2x2 | 40 | 24 | L1004 10 | 99 | 60
1. 2. 20692-xx-xXx

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 20692-xx-xx.

B-42



SWAGED HOSE FITTING

:Co A cC A

%'////
4’
N

74 W 74

S2
20711 20711-T
74
GB METRIC FEMALE 74?CONE SEAT
E HOSE BORE D IMENSIONS
PARTNO. THREAD E DN DASH A C S2
20711-10-02 | M1ox1 | 4 02 | 14 | 75 | 14 |
20711-12-03C  M12X1.25 5 03 14 9 17
20711-12-03 | M12x1.5 | 5 | o3 | | 14 | 10 | 17 |
20711-12-04 M12X1.5 6 04 145 10 17
20711-14-04 | M14x1.5 | 6 | o4 | | 155 | 85 | 19 |
20711-14-05 M14X1.5 8 05 15.5 8.5 19
20711-14-06 | M14x1.5 | 10 | 06 | | 155 | 8.5 | 19 |
20711-16-04 M16X1.5 6 04 16.5 8 22
20711-16-05 | mM16x1.5 | 8 | | | 165 | 8 | 22 |
20711-16-06 M16X1.5 10 06 16 8 22
20711-18-05T | M18x1.5 | 8 | S | | 16 | 8 | 22 |
20711-18-06 M18X1.5 10 06 17.5 10 24
20711-20-06T | M20x1.5 | 10 | o6 | | 16 | 10 | 24 |
20711-20-08 M20X1.5 12 08 18.5 10 27
20711-22-06T | M22x1.5 | 10 | 06 I | 16 | 10 | 27 |
20711-22-08 M22X1.5 12 08 18.5 10 27
20711-22-10 | M22x1.5 | 16 | 10 | | 19 | 10 | 27 |
20711-24-08T  M24X1.5 12 08 16.5 11 30
20711-27-08T | M27x1.5 | 12 | o8 | | 185 | 11 | 32 |
20711-27-10T  M27X1.5 16 10 19.5 11 32
20711-27-12 | M27x1.5 | 20 | 12 | | 215 | 11 | 32 |
20711-30-10T  M30X1.5 16 10 18 11 36
20711-30-12 | M30X1.5 | 20 I 12 | | 215 | 11 | 36 |
20711-33-10T M33X2 16 10 19.5 13 41 ]
20711-33-12T | M33x2 | 20 | 12 | | 20 | 13 | 41 |
20711-33-14 M33X2 22 14 215 13 41 ]
20711-36-12T |  M36x2 | 20 | I | | 20 | 14 1 41 |
20711-36-14T M36X2 22 14 20 14 41
20711-36-16 | M36x2 | 25 | 16 | | 23 | 14 | 41 |
20711-39-16T M39X2 25 16 23.5 14 46
20711-42-167 | M42x2 | 25 | 16 | | 235 | 15 | 50 |
20711-42-20 M42X2 32 20 26 15 50
20711-45-20T | M45x2 | 32 | | | 25 | 15 i 55 |
20711-52-24T M52X2 40 24 25 17 60
1 2 20712-XX-XX

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 20712-xx-xx.

B-43



SWAGED HOSE FITTING

20741

45 74
45GB METRIC FEMALE 74?CONE SEAT
REF. GB/T 9065.1

E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A c H s2
[ 20741-14-04 | wm14x15 | 6 | 04 | 405 | 85 | 185 | 19
20741-16-05 M16X1.5 8 05 44.4 8 20 22
[ 20741-18-06 | m18x15 | 10 | 06 | 457 | 10 | 214 | 24
20741-22-08 M22X1.5 12 08 58.9 10 24 27
[ 20741-27-10 | m27x15 | 16 | 10 | 707 I 11 1 264 | 32
20741-30-12 M30X1.5 20 12 78.1 11 30 36
[ 2074133-12 | wm33xe | 20 | 12 | 774 | 13 | 30 | a1
20741-33-16 M33X2 25 16 85 13 30.8 41
[ 207413614 |  m3ex2 | 22 | 14 | 798 | 14 | 296 | 41
20741-36-16 M36X2 25 16 85.7 14 315 41
[ 2074130-16 | wm3ox2 | 25 | 16 | 861 | 14 | 318 | 46
20741-45-20W MA45X2 32 20 97 15 36.2 55
20741-52-24W | wmsox2 | 40 | 24 | 1153 1 17 | 409 | 60

1. 2. 20742-xx-xx

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 20742-xx-xx.

B-44



SWAGED HOSE FITTING

A
20791
uin
90 74
90GB METRIC FEMALE 74?CONE SEAT
= E 2 REF. GB/T 9065.1
74
E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A c H s2
20791-12-04C | m12x1.25 | 6 | 04 | 30 | o | 335 17
20791-12-04 M12X1.5 6 04 30 10 335 17
20791-14-04 | m14x15 | 6 | 04 | 30 | 85 | 34 19
20791-16-04 M16X1.5 6 04 30 8 35 22
20791-16-05 | m16x1.5 | 8 | 05 | 3 | 8 | 38 22
20791-18-06 M18X1.5 10 06 353 10 413 24
207912208 | mM22x15 | 12 | 08 | 41 | 10 | 48 27
20791-22-10 M22X1.5 16 10 56 10 525 27
207912710 | wm27x15 | 16 | 10 | 56 | 11 | 54 32
20791-30-12 M30X1.5 20 12 662 11 635 36
20791-33-12 | wmsaxe | 20 | 12 | 655 | 13 | 635 41
20791-33-16 M33X2 25 16 767 13 69 41
20791-36-12 | wmsex2 | 20 | 12 | 655 | 14 | 635 41
20791-36-14 M36X2 22 14 712 14 645 41
207913916 | m3ox2 | 25 | 16 | 767 | 14 | 705 | 46
20791-45-20W M45X2 32 _ 20 915 15 83 55
20791-5220W | wms2x2 | 32 | 20 | o3 | 17 | 85 | 60
20791-52-24W  M52X2 40 24 1107 17 965 60
1. 2. 20792-xx-XX

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 20792-xx-xx.

B-45



SWAGED HOSE FITTING

B A
21611
60 : NPSM 60
NPSM FEMALE 60CONE
SAE J514
S2
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A B S2
21611-04-04 |  1/4x18 | 6 | 04 | 18 | 46 | 19 |
21611-04-06 1/4"X18 10 06 19 46 19
21611-06-04 | 3/8"x18 | 6 | 04 | 19 | 6 | 22 |
21611-06-05 3/8"X18 8 05 19 6 22
21611-06-06 | 3/8"x18 | 10 | 06 | 19 | 6 | 22 |
21611-08-08 1/2"X14 12 08 215 75 27
21611-12-10 |  3/4"x14 | 16 | 10 | 24 | 89 | 32 |
21611-12-12 3/4"X14 20 12 24 89 32
21611-16-127 |  1"x115 | 20 | 12 | 25 | 105 | 41 |
21611-16-16 1"X11.5 25 16 27 105 41
21611-20-20W | 1.1/4"x11.5 | 32 | 20 | 295 | 112 | 50 |
21611-24-24W  1.1/2"X11.5 40 24 205 12 55
1. 2 21612-xx-xX

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 21612-xx-xx.

B-46



HOSE FITTING

45

45NPSM FEMALE 60CONE

21641

NPSM

60

E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A B H S2
21641-04-04 1/4"X18 6 04 45.1 4.6 23 19
21641-06-06 3/8"X18 10 06 47.2 6 24.9 22
21641-08-08 1/2"X14 12 08 62.7 7.5 27.7 27
21641-12-12 3/4"X14 20 12 81.4 8.9 34 32
21641-16-16 1"X11.5 25 16 89.2 10.5 35 41
21641-20-20W 1.1/4"X11.5 32 20 99.8 11.2 39.3 50
21641-24-24W 1.1/2"X11.5 40 24 1151 | 11.2 | 444 55
21641-32-32W 2"X11.5 50 32 136.4 | 11.2 63.4 70

1.

Note: 1.For use with braided hoses.

2,

21642-xx-XX

2.1f use with spiral hoses, hose fitting series number is 21642-xx-xx.

B-47




SWAGED HOSE FITTING

21691
H 90 NPSM 60
90NPSM FEMALE 60CONE
SAE J514
E HOSE BORE D IMENSIONS
PART NO. THREAD E DN DASH A B H S2
21691-04-04 | 1/4"x18 | 6 | 04 | 30 | 46 | 365 19
21691-06-04 3/8"X18 6 04 30 6 37.7 22
21691-06-05 | 3/8"X18 | 8 | 05 | 34 | 6 | 407 22
21691-06-06 3/8"X18 10 06 35.3 6 43 22
21691-08-08 | 1/2"x14 | 12 | 08 | 41 | 75 | 51 27
21691-12-10 3/4"X14 16 10 56.5 8.9 53.5 32
21691-12-12 |  314x14 | 20 | 12 | 655 | 89 | 691 32
21691-16-12T 1"X11.5 20 12 65.5 10.5 64.5 41
21691-16-16 | 1"X11.5 | 25 | 16 | 767 | 105 | 738 41
21691-20-20W  1.1/4"X11.5 32 20 915 11.2 86 50
21691-24-20T | 1.1/2"x115 | 32 | 20 | 915 | 112 | 835 55
21691-24-24W  1.1/2"X11.5 40 24 109.4 11.2 101.5 55
21691-32-32W |  2'x115 | 50 | 32 | 1318 | 112 | 1245 70
1 2 21692-xx-XX

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 21692-xx-XX.

B-48




SWAGED HOSE FITTING

cC A
C A G A
LLI| =y - w
n |
S2 2
\S2 S2
22111 22111W 22111-T
BSP FEMALE MULTISEAL
E HOSE BORE D IMENSIONS

PART NO. THREAD E DN DASH A C S2
22111-02-04 | Gc18xes | 6 | 04 | | 19 | 2 | 1 |
22111-04-03 G1/4"X19 5 03 19 4 19
22111-04-04 | Gc14ax19 | 6 | 04 | | 195 | 4 | 19 |
22111-06-05 G3/8"X19 8 05 20 5 22
22111-06-06 | G3/8'x19 | 10 | 06 | | 205 | 5 | 22 |
22111-06-08 G3/8"X19 12 08 21 5 22
22111-08-06T | G1/2'x14 | 10 | o | | 225 | 6 | 27 |
22111-08-08 G1/2"X14 12 08 23 6 27
22111-08-10 | G12'x14 | 16 | 10 | | 24 | 6 | 27 |
22111-10-10 G5/8"X14 16 10 25 8 30
22111-10-12 | csie'x14 | 20 | 12 | | 25 | 8 | 30 |
22111-12-08T G3/4"X14 12 08 25 95 32
22111-12-10 | G3ixia | 16 | 10 | | 26 | 95 | 32 |
22111-12-12 G3/4"X14 20 12 26 95 32
22111-16-127 | e1xnn | 20 | 12 | | 265 | 1 | 41 |
22111-16-14 G1"X11 22 14 26.5 11 41
22111-16-16 | G1x11__| 25 | 16 | | 28 | 1 | 41 |
22111-20-16T G1.1/4"X11 25 16 275 11 50
22111-2020W | G1.1/4x11 | 32 | 20 | | 315 | 10 | s |
22111-24-24W  G1.1/2"X11 40 24 37 115 55
22111-3232w | Gcax1r | 50 | 32 | | 34 | 15 | 70

1. 2. 22112-xx-XX
Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 22112-xx-xx.

B-49



HOSE FITTING

A
TV 4
I
X S2
22141 22141-T 22141-W
45
45BSP FEMALE MULTISEAL
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A C H S2
| __22141-02-04 G1/8"X28 6 04 43.7 2 21.6 14
22141-04-03 G1/4"X19 5 03 41.3 4 20.4 19
22141-04-04 G1/4"X19 6 04 43.7 4 21.6 19
22141-06-05 G3/8"X19 8 05 46.2 5 22.9 22
22141-06-06 G3/8"X19 10 06 48.1 5 23.9 22
22141-06-08 G3/8"X19 12 08 60.4 5 254 22
22141-08-04T G1/2"X14 6 04 43.9 6 23.8 27
22141-08-06T G1/2"X14 10 06 42.5 6 18.2 27
22141-08-08 G1/2"X14 12 08 61.8 6 26.8 27
22141-08-10 G1/2"X14 16 10 73 6 29 27
22141-10-10 G5/8"X14 16 10 73.7 8 28.9 30
22141-10-12 G5/8"X14 20 12 79.8 8 32.5 30
22141-12-08T G3/4"X14 12 08 63.2 9.5 28.3 32
22141-12-10 G3/4"X14 16 10 70.4 9.5 29.6 32
22141-12-12 G3/4"X14 20 12 80.6 9.5 33.2 32
22141-16-12 G1"X11 20 12 81.6 11 33.5 41
22141-16-14 G1"X11 22 14 83.3 11 33 41
22141-16-16 G1"X11 25 16 89.2 11 35 41
22141-20-16T G1.1/4"X11 25 16 91.4 9.1 37.1 50
22141-20-20W G1.1/4"X11 32 20 102.9 10 41.2 50
| 22141-24-24\W G1.1/2"X11 40 24 1198 | 115 49 55
22141-32-32W G2"X11 50 32 137.4 15 53 70
1 2. 22142-xX-XX

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 22142-xx-xx.

B-50



SWAGED HOSE FITTING

e
I
I
(&) o
9 X s2
22191 22191-T 22191-W
90
90BSP FEMALE MULTISEAL
E HOSE BORE D IMENSIONS

PART NO. THREAD E DN DASH A C H S2
22191-02-04 | G1/8"x28 | 6 | 4 | | .0 | 2 | 38 | 14
22191-04-03 G1/4"X19 5 03 27 4 35 19
22191-04-04 | G1ax19 | 6 | 04 | | 30 | 4 | 38 ] 19
22191-04-05 G1/4"X19 8 05 33 4 415 19
22191-06-05 | G3/8"x19 | 8 | 05 | | 33 | 5 | 42 | 22
22191-06-06 G3/8"X19 10 06 35.3 5 443 22
22191-06-08 | G3/8"x19 | 12 | 08 | | 41 ] 5 | 50 | 22
22191-08-06T G1/2"X14 10 06 35.3 6 468 27
22191-08-08 | G12x14 | 12 | 08 | | 41 | 6 |s25]| 27
22191-10-10 G5/8"X14 16 10 56.5 8 575 30
22191-10-12 | Gsi8x14 | 20 | 12 | | es5 | 8 | 67 | 30
22191-12-08T G3/4"X14 12 08 41 95 52 32
22191-12-10 | G31ax14 | 16 | 10 | | 565 | 95 |85 | 32
PR P G3/4"X14 20 12 655 95 68 32
22191-16-121 |  G1x11 | 20 | 12 | | 662 | 11 | 685 | 41
22191-16-14 G1"X11 22 14 712 11 695 41
22191-16-16 | G1"x11_ | 25 | 16 | | 767 | 11 | 75 | 41
22191-20-16T  G1.1/4"X11 25 16 767 10 78 50
22191-20-20W | G1.1/4"x11 | 32 | 20 | | 23 | 10 [853 | 50
22191-24-24W  G1.1/2"X11 40 24 1094 115 108 55
22191-32-32w | G2'x11 | 50 | 32 | | 1331 ] 15 [1238] 70
1. 2. 22192-Xx-XX

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 22192-xx-xx.

B-51




SWAGED HOSE FITTING

22211

BSP FEMALE FLAT SEAT

E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C S2
22211-04-04 | G1/4x19 | 6 | 04 | | 55| 8 | 19 |
22211-04-06 G1/4"X19 10 06 15.5 8 19
22211-06-04 | G3/8"x19 | 6 | 04 | | 17 ] o | 22 |
22211-06-05 G3/8"X19 8 05 17 9 22
22211-06-06 | G3/8"x19 | 10 | 06 | | 65 9 | 22 |
22211-06-08 G3/8"X19 12 08 17.5 9 22
22211-08-06T | G1/2'x14 | 10 | 06 | | 18 | 105 ] 27 |
22211-08-08 G1/2"X14 12 08 185 105 27
22211-10-08 | G5/8"x14 | 12 | 08 | | 20 | 12 | 30 |
22211-10-10 G5/8"X14 16 10 21 12 30
22211-12-08T | G3/a"x14 | 12 | 08 | | 205 | 135 | 32 |
22211-12-10 G3/4"X14 16 10 215 135 32
222111212 | G3i4x14 | 20 | 12 | | 215 | 135 | 32 |
22211-16-12T G1"X11 20 12 215 155 41
22211-16-16 | G1'x11_ | 25 | 16 | | 23 | 155 ] 41 |
22211-2020W  G1.1/4"X11 32 20 26 155 50
22211-24-24W | G1.1/2'x11 | 40 | 24 | | 275 | 175 | 55 |
22211-32-32W G2"X11 50 32 305 23 70

1. 2. 22212-XX-XX

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 22212-xx-xx.

B-52



SWAGED HOSE FITTING

22241
45
45BSP FEMALE FLAT SEAT
E HOSE BORE D IMENSIONS
PART NO. THREAD E DN DASH A o} H S2
22241-04-04 | G1/4"x19 | 6 | 04 | | 200 | 8 | 188 | 19
22241-06-06 G3/8"X19 10 06 45.3 9 21 22
22241-08-08 | G1/2'x14 | 12 | 08 | | 589 | 105 | 24 | 27
22241-12-12 G3/4"X14 20 12 768 135 30 32
22241-16-16 |  G1"X11 | 25 | 16 | | 827 | 155 | 315 | 41
22241-20-20W  G1.1/4"X11 32 20 973 155 366 50

1. 2. 22242-Xx-XX
Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 22242-xx-xx.

B-53




SWAGED HOSE FITTING

/o 22291
v
90
90BSP FEMALE FLAT SEAT
O :
E
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A C H S2
22291-04-04 | G1/4"x19 | 6 | 04 | | 30 | 8 | 345 ] 19
22291-06-06 G3/8"X19 10 06 35.3 9 413 22
22291-08-08 | G1/2"x14 | 12 | 08 | | 41 | 105 | 48 | 27
22291-12-12 G3/4"X14 20 12 655 135 635 32
22291-16-16 |  G1"x11 | 25 | 16 | | 767 | 155 | 70 | 41
22291-20-20W  G1.1/4"X11 32 20 915 155 825 50
22291-24-24W | G1.1/2'x11 | 40 | 24 | | 1094 | 175 | 985 | 55
1. 2. 22292-XX-XX

Note: 1.For use with braided hoses.

2.1f use with spiral hoses, hose fitting series number is 22292-xx-XX.

B-54




PUSH-ON FITTING

A
N 22611-P0
1N}
60 (>
—L—L 60
BSP FEMALE 60CONE
S2
B HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A C S2
22611-04-04PO G1/4"X19 6 04 19.5 55 19
22611-06-06PO G3/8"X19 10 06 21.5 6.3 22
22611-08-08PO G1/2"X14 12 08 24.5 7.5 27
22611-12-12PO G3/4"X14 20 12 29 10.9

B-55



SWAGED HOSE FITTING

22611D

60 CUJ s z 60

BSP FEMALE 60CONE DOUBLE HEXAGON

E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A c St S2
22611D-04-04 | G1/4"x19 | 6 1 o4 | | 235 | 55 | 19 | 19
22611D-06-06 G3/8"X19 10 06 265 63 22 22
22611D-08-08 | G1/2'x14 | 12 | 08 | | 31 | 75 | 27 | 27
22611D-10-08 G5/8"X14 12 08 31 95 30 30
22611D-12-08 | G3/14"x14 | 12 | 08 | | 315 | 109 | 32 | 32
22611D-12-12 G3/4"X14 20 12 335 109 32 32
22611D-16-16 |  G1'x11 | 25 | 16 | | 355 | 117 | 41 | 41
22611D-20-20W G1.1/4"X11 32 20 44 1 50 50
1 2. 22612D-xx-Xx

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 22612D-xx-xx.

B-56



SWAGED HOSE FITTING

22611D-SM

L - — y i
60 C 60

BSP FEMALE 60CONE DOUBLE HEXAGON

S2
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A C S1 S2
22611D-04-04SM |  G1/4"X19 | 6 | 04 | | 235 | 55 | 14 | 19
22611D-06-06SM  G3/8"X19 10 06 245 63 17 22
22611D-08-08SM |  G1/2"x14 | 12 | 08 | | 29 | 75 | 22 | 27
22611D-10-08SM  G5/8"X14 12 08 29 95 22 30
22611D-12-08SM |  G3/4"x14 | 12 | 08 | | 315 | 109 | 27 | 32
22611D-12-12SM  G3/4"X14 20 12 335 109 27 32
22611D-16-16sM |  G1"x11 | 25 | 16 | | 355 | 117 | 32 | 41
22611D-20-20WSM  G1.1/4"X11 32 20 42 11 41 50
1. ’ 2. ' 22612D-xx-xxSM ‘ _ ’
Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 22612D-xx-xxSM.

B-57



HOSE FITTING

A
C_A
22611-0R 22611-0RT 22611-ORW
60 )
BSP FEMALE 60CONE O-RING
E HOSE BORE D IMENSIONS

PART NO. THREAD E DN DASH A C S2

| 22611-02:030R_| G1/8"X28 5 03 15 | 55 | 14
| _22611-02-040R G1/8"X28 6 04 15 5.5 14
22611-04-030R_| G1/4"X19 5 03 17 5.5 19
22611-04-040R G1/4"X19 6 04 18 5.5 19
22611-04-050R G1/4"X19 8 05 18 5.5 19
22611-04-060R G1/4"X19 10 06 18 5.5 19
22611-06-040R G3/8"X19 6 04 19 6.3 22
22611-06-050R G3/8"X19 8 05 19 6.3 22
22611-06-060R G3/8"X19 10 06 19.5 6.3 22
22611-06-080R G3/8"X19 12 08 19.5 6.3 22
22611-08-060RT G1/2"X14 10 06 21 7.5 27
22611-08-080R G1/2"X14 12 08 21.5 7.5 27
22611-10-080R G5/8"X14 12 08 22 9.5 30
22611-10-100R G5/8"X14 16 10 23 9.5 30
22611-12-080RT G3/4"X14 12 08 22 10.9 32
22611-12-100R G3/4"X14 16 10 23.5 10.9 32
22611-12-120R G3/4"X14 20 12 24 10.9 32
22611-16-120RT G1"X11 20 12 24 11.7 41
22611-16-140R G1"X11 22 14 26 11.7 41
22611-16-160R G1"X11 25 16 27 11.7 41
22611-20-160RT | G1.1/4"X11 25 16 27.5 11 50
22611-20-200RW | G1.1/4"X11 32 20 30.5 11 50
22611-24-200RT | G1.1/2"X11 32 20 32 13 55
22611-24-240RW | G1.1/2"X11 40 24 32 13 55
22611-32-240RT G2"X11 40 24 30 16 70
22611-32-320RW G2"X11 50 32 31.9 16 70

1

Note: 1.For use with braided hoses.

2.
2.If use with spiral hoses, hose fitting series number is 22612-xx-xxOR.

22612-xx-xxOR

B-58




HOSE FITTING

22641 22641-W 22641-T
45 60
45 BSP FEMALE 60CONE
E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C H S2
22641-04-04 | G1/4"X19 6 | 04 | 423 | 55 | 202 | 19
22641-06-04 G3/8"X19 6 04 432 63 21 22
22641-06-05 | G3/8"X19 8 | 05 | 453 | 63 | 22 | 22
22641-06-06 G3/8"X19 10 06 469 63 226 22
22641-08-06T | G1/2"X14 10 | 06 | 481 | 75 | 239 | 27
22641-08-08 G1/2"X14 12 08 611 75 264 27
22641-10-08 | G5/8"X14 12 | 08 | 614 | 95 | 265 | 30
22641-10-10 G5/8"X14 16 10 726 95 278 30
22641-12-08T | G3/4"X14 12 | 08 | 61.8 | 109 | 269 | 32
22641-12-10 G3/4"X14 16 10 73 109 282 32
22641-12-12 | G3/4"X14 20 | 12 | 7902 | 109 | 318 | 32
22641-16-12T G1"X11 20 12 808 117 334 41
22641-16-16 |  G1"X11 25 | 16 | 884 | 117 | 342 | 41
22641-20-16T G1.1/4"X11 25 16 853 11 311 50
22641-20-20W | G1.1/4"X11 32 | 20 | 988 | 11 | 38 | 50
22641-24-24W  G1.1/2"X11 40 24 1168 13 455 55
22641-32-32W |  G2"X11 50 | 32 | 1357 ] 16 | 527 | 70

1. 2. 22642-Xx-XX

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is 22642-xx-xx.

B-59




HOSE FITTING

90

22641D-SM

60

90BSP FEMALE 60CONE DOUBLE HEXAGON

E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C H S1 S2
22641D-04-04SM G1/4"X19 6 04 446 | 55 | 255 | 14 19
22641D-06-06SM G3/8"X19 10 06 516 | 6.3 | 269 | 17 22
22641D-08-08SM G1/2"X14 12 08 66 7.5 31 22 27
22641D-10-08SM G5/8"X14 12 08 66 9.5 31 22 30
22641D-12-08SM G3/4"X14 12 08 66 10.9 | 31.5 | 27 32
22641D-12-12SM G3/4"X14 20 12 85.5 | 109 | 374 | 27 32
22641D-16-16SM G1"X11 25 16 94.7 | 11.7 | 405 | 32 41

1.

Note: 1.For use with braided hoses.

2.

22642D-xx-xx

2.If use with spiral hoses, hose fitting series number is 22642D-xx-xx.

B-60




SWAGED HOSE FITTING

PR &,
."“

9] (8]
[ E_s2
60
22691 22691-W 22691-T
90 60
90BSP FEMALE 60CONE
E HOSE BORE D IMENSIONS

PART NO. THREAD E DASH A C H S2
22691-02-03 | G1/8"X28 5 | 03 | | 265 | 55 | 315 ] 14
22691-02-04 G1/8"X28 6 04 30 55 345 14
22691-04-03 | G1/4"X19 5 | Y | | 265 | 55 | 335 | 19
22691-04-04 G1/4"X19 6 04 30 55 365 19
22691-04-05 | G1/4"X19 8 | 05 | | 33 | 55 | 395 | 19
22691-04-06 G1/4"X19 10 06 30 55 365 19
22691-06-04 | G3/8"X19 6 | 04 | | 30 | 63 377 | 22
22691-06-05 G3/8"X19 8 05 33 63 407 22
22691-06-06 | G3/8"X19 10 | 06 | | 353 | 63 | 43 | 22
22691-08-06T G1/2"X14 10 06 35.3 7 433 27
22691-08-08 | G1/2"X14 12 | 08 | | 41 | 75 | 51 | 27
22691-08-10 G1/2"X14 16 10 565 7.5 555 27
22691-10-08 | G5/8"X14 12 | 08 | | 41 | 95 | 515 | 30
22691-10-10 G5/8"X14 16 10 56 95 56 30
22691-12-08T | G3/4"X14 12 | 08 | | 41 | 109 | 521 | 32
22691-12-10 G3/4"X14 16 10 565 109 566 32
22691-12-12 | G3/4"x14 20 | 12 | | 649 | 109 | 661 | 32
22691-16-12T G1"X11 20 12 655 117 683 41
22691-16-14 |  G1"X11 22 | 14 | | 712 | 117 | 693 | 41
22691-16-16 G1"X11 25 16 767 17 738 41
22691-20-16T | G1.1/4"X11 25 | 16 | | 78 | 11 | 695 | 50
22691-20-20W  G1.1/4"X11 32 20 915 11 843 50
22691-24-24W | G1.1/2"X11 40 | 24 | | 1004 ] 13 | 103 | 55
22691-32-32W e 50 32 1318 16 1233 70
1. 2. 22692-xx-XX

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is 22692-xx-xx.

B-61



HOSE FITTING

A
o~
Vi
/ 22691D
i b
1 90 60
90BSP FEMALE 60CONE DOUBLE HEXAGON
Ol
60
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A C H S1 S2
22691D-04-04 G1/4"X19 6 04 30 55 | 40.5 19 19
22691D-06-06 G3/8"X19 10 06 35.3 6.3 49 22 22
22691D-08-08 G1/2"X14 12 08 41 7.5 58 27 27
22691D-12-12 G3/4"X14 20 12 65.5 | 10.9 74 32 32
22691D-16-16 G1"X11 25 16 76.7 11.7 82 41 41

B-62




HOSE FITTING

A
P!
e
/
22691D-SM
i
S1
| 90 60
O] 90BSP FEMALE 60CONE DOUBLE HEXAGON
Uh
60
E HOSE BORE D IMENSIONS
PART NO. THREAD E DN DASH A C H S1 S2

22691D-04-04SM | G1/4"X19 6 04 30 5.5 40.5 14 19
22691D-06-06SM | G3/8"X19 10 06 35.3 6.3 49 17 22
22691D-08-08SM | G1/2"X14 12 08 41 7.5 58 22 27
22691D-10-08SM | G5/8"X14 12 08 41 9.5 58 22 30
22691D-12-08SM | G3/4"X14 12 08 415 10.9 58 27 32
22691D-12-12SM |} G3/4"X14 20 12 65.5 10.9 74 27 32
22691D-16-16SM G1"X11 25 16 76.7 11.7 | 82.8 32 41
1 2.2 2692D-xx-xx

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 22692D-xx-xx.

B-63



HOSE FITTING

g -
o
+ 22691-H
90 60
O
E S2 90BSP FEMALE 60CONE
60
E HOSE BORE D IMENSIONS
PART NO. THREAD E DN DASH A C H S2
22691-04-04(H62) G1/4"X19 6 04 30 5.5 62 19
22691-06-06(H77.5) G3/8"X19 10 06 35.3 6.3 77.5 22
22691-08-08(H84) G1/2"X14 12 08 41 7.5 84 27
22691-10-10(H114) G5/8"X14 16 10 56.5 9.5 114 30
22691-12-12(H137) G3/4"X14 20 12 65.5 10.9 137 32
22691-16-16(H140.5) G1"X11 25 16 76.7 11.7 | 140.5 41
1. 2. 22692-XX-XX

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 22692-xx-xx.

B-64




SWAGED HOSE FITTING

S1
\ 22691K
I
q\sz 90 60
OLY 90BSP COMPACT FEMALE 60CONE
60
E HOSE BORE D IMENSIONS

PART NO. THREAD E DN DASH A c H S1 S2
22691K-04-04 | G14a'x19 | 6 04 | 175 | 55 | 185 | 11 19
22691K-06-04 G3/8"X19 6 04 20 6.3 24 16 22
22691K-06-05 | G3/8"x19 | 8 05 | 20 | 63 | 24 | 16 22
22691K-06-06 G3/8"X19 10 06 20 6.3 24 16 22
22691K-08-06 | G1/2'x14 | 10 06 | 23 | 75 | 285 | 19 27
22691K-08-08 G1/2"X14 12 08 235 75 285 19 27 |
22691K-10-10 | Gs58'x14 | 16 10 245 | 95 | 305 | 22 30|
22691K-12-12 G3/4"X14 20 12 275 109 33 27 32 |
22691K-16-16 |  G1"x11 | 25 16 | 43 | 117 | 385 | 33 41
1. 2. 22692K-xx-xx

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is 22692K-xx-xx.

B-65



HOSE FITTING

2 22691-V180
LI
1 \‘1 "!I 60 180 60
S T
et 180 BSP FEMALE 60 CONE
B lc
E HOSE BORE D IMENSIONS
PART NO. THREAD E DN DASH A B C H S2
22691-04-04(V180) G1/4"X19 6 04 65.5 46 5.5 40 19
22691-06-06(V180) G3/8"X19 10 06 90.8 63.5 6.3 50 22
22691-08-08(V180) G1/2"X14 12 08 104.3 71 7.5 60 27
22691-10-10(V180) G5/8"X14 16 10 130.5 90 9.5 80 30
22691-12-12(V180) G3/4"X14 20 12 160.5 111 10.9 100 32
22691-16-16(V180) G1"X11 25 16 196.8 132.5 11.7 120 41
1. 2. 22692-xx-XX

Note: 1.For use with braided hoses.

2.1f use with spiral hoses, hose fitting series number is 22692-xx-xx.

B-66




SWAGED HOSE FITTING

c_A c A
%IV
L IM L é
S e
|82
24211 24211-T 24211W
ORFS
ORFS FEMALE FLAT SEAT
ISO 12151-1-SAE J516
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A c s2
242110404 | 9/16"x18 | 6 | Y | [ 225 | 85 | 19 | ]
24211-04-05 9/16"X18 8 05 225 85 19
24211-04-06 | 9/tex18_ | 10 | 06 | | 225 | 85 | 19 | |
24211-06-04T 11/16"X16 6 04 235 10 22
24211-06-05T | 1116"x16 | 8 | I | | 235 | 10 | 22 | |
24211-06-06 11/16"X16 10 06 255 10 22
24211-06-08 | 11/16"x16___| 12 | 08 | | 26 | 10 | 22 | |
24211-08-05T 13/16"X16 8 05 25 11 27
24211-08-06T | 13/16"X16 | 0 | o | | o5 | 11 | 27 | |
24211-08-08 13/16"X16 12 08 28 1 27
24211-08-10 | 13/16"x16___| 16 | 10 | | 20 | 11 | 27 | l
24211-10-08T 1"X14 12 08 295 135 30
24211-10-10 1"X14 | 16 | 10 | | 33 | 135 ] 30 | |
24211-10-12 1"X14 20 12 335 135 30
24211-12-08T | 1.3/16"x12___ | 12 | 08 | | 3051 15 | 36 | ]
24211-12-10T 1.3/16"X12 16 10 315 15 36
24211-12-12 | 13/16'x12 | 20 | 12 | | 35 | 15 | 36 | |
24211-12-16 1.3/16"X12 25 16 3 15 36
24211-16-12T | 1.7/16'x12__ | 20 | 12 | | 35 | 148 | 41 | |
24211-16-14T 1.7/116"X12 22 14 35 148 41
24211-16-16T | 1.7/16"X12__| 25 | 16 | | 35 | 148 | 41 | |
24211-16-20 1.7/116"X12 32 20 395 148 41
24211-20-16T | 1.11/16"x12__| P | 16 | | 35 | 15 | s0 | |
24211-20-20W  1.11/16"X12 32 20 425 15 50
24211-2024W | 1.11/16'x12 | 40 | Y | | 425 | 15 | 50 | |
24211-24-20T 2"X12 32 20 36 148 60
24211-24-247 | 2712 | 40 | Y | | 36 | 148 | 60 |
1. 2. 24212-XX-XX

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is 24212-xx-xx.

B-67



SWAGED HOSE FITTING

".ﬂuummuul..l...,..........
it

24241 24241-T 24241-W

450RFS
450RFS FEMALE FLAT SEAT
ISO 12151-1--SAE J516

E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A H C S2

| 24241-04-04 9/16"X18 6 04 455 | 234 8.5 19
| 24241-04-05 9/16"X18 8 05 476 | 243 8.5 19
| 24241-04-06 9/16"X18 10 06 49.2 | 249 8.5 19
24241-06-04T 11/16"X16 6 04 39.5 17.4 10 22
24241-06-05T 11/16"X16 8 05 42.3 19 10 22
24241-06-06 11/16"X16 10 06 513 | 271 10 22

| 24241-08-06T 13/16"X16 10 06 446 | 203 11 27
24241-08-08 13/16"X16 12 08 65.7 30.7 11 27
|__24241-08-10 13/16"X16 16 10 76.5 31.7 11 27
| __24241-10-08T 1"X14 12 08 582 | 233 13.5 30
| 24241-10-10 1"X14 16 10 792 34.9 13.5 30
|__24241-12-08T 1.3/16"X12 12 08 582 | 233 15 36
|__24241-12-10T 1.3/16"X12 16 10 682 1 239 15 36
24241-12-12 1.3/16"X12 20 12 87 39.5 15 36

| 24241-12-16 1.3/16"X12____ 25 16 95.3 41 15 36
| 24241-16-12T 1.7/16"X12 20 12 74 29.6 14.8 41
24241-16-14T 1.7/16"X12 22 14 78.7 | 28.5 14.8 41

| 24241-16-16T 1.7/16"X12 25 16 84.1 29.7 14.8 41
24241-20-16T 1.11/16"X12 25 16 84.1 29.7 15 50
24241-20-20W 1.11/16"X12 32 20 111.2 49 15 50
24241-24-20T 2"X12 32 20 94.5 33.8 14.8 60
24241-24-24T 2"X12 40 24 108.5 | 37.7 14.8 60

1. 2. 24242-xx-xx

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 24242-xx-xx.




SWAGED HOSE FITTING

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is 24292-xx-xx.

24291 24291-T 24291W
ORFS
900RFS FEMALE FLAT SEAT
ISO 12151-1--SAE J516
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A H c s
24291-04-04 | 9/16"x18 6 | 04 | 30 | 41 ] 85 | 19
24291-04-05 9/16"X18 8 05 33 44 85 19
24291-06-05T | 11/16"X16 8 | 05 | 33 lazs ] 10 | 22
24291-06-06 11/16"X16 10 06 353 493 10 22
- 24291-06-08 | 11/16"X16 12 | 08 | 41| 55 | 10 | 22
24291-08-06T 13/16"X16 10 06 353 398 11 27
24291-08-08 | 13/16"X16 12 | 41 | s75 | 11 | 27
24291-08-10 13/16"X16 16 10 565 615 11 27
24291-10-08T | 1"X14 12 | 08 | 41 | 46 | 135 | 30
24291-10-10 1"X14 16 10 56 66 135 30
24291-10-12 | 1"X14 20 | 12 | 655 | 755 | 135 | 30
24291-12-10T 1.3/16"X12 16 10 56 515 15 36
24291-12-12 | 1.3/16"X12 20 | 12 less | 7z | 15 | 36
24291-12-16 1.3/16"X12 25 16 767 835 15 36
24291-16-12T | 1.7/16"X12 20 | 12 | 655 | 63 | 148 | 41
24291-16-14T 1.7/16"X12 22 14 712 63 148 41
24291-16-16T | 1.7/16"X12 25 | 16 | 769 | 675 | 148 | 41
24291-20-16T 1.11/16"X12 25 16 767 675 15 50
24291-20-20W | 1.11/16"X12 32 | 20 | 93 | 100 ] 15 | 50
24291-24-20T 2"X12 32 20 915 785 148 60
24291-24-247 | 2'x12 40 | 24 1004] 92 | 148 | 60
1. 2. 24292-Xx-XX

B-69



PUSH-ON FITTING

A
o 26711-PO
4 —
74 |w JIC 74
—L—L JIC FEMALE 74CONE SEAT
S2
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A C S2
l_267'] 1-04-04PO 7/1 6"X20 6 04 1 2_2 9 15
I_267'] 1-05-04PO 1/2"X20 6 04 1 2_2 9.5 17
__26711—06-06PO 9/16"X18 10 06 12.5 10.5 19
| 26711-08-06PO 3/4"X16 10 06 125 | 11 24
| 26711-08-08PO 3/4"X16 12 08 147 | 11 24 |
26711-10-08PO 7/8"X14 12 08 15.2 13 27
_26711—10-10PO 7/8"X14 16 10 27
| 26711-12:12P0 | 1.1/16"X12 20 12 174 | 15 32|
| 26711-16-16P0_ | 1.5/16"X12 25 16 41

B-70




SWAGED HOSE FITTING

20711D
JIC 74
JIC FEMALE 74CONE SEAT DOUBLE HEXAGON
SAE J514
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A C s1_s2
26711D-04-04 7/116"X20 6 04 | 20 ] o | 17 ] 15
26711D-05-04 1/2"X20 6 04 21 95 17 17
26711D-06-04 9/16"X18 6 | 04 | 21 L1051 19 | 19
26711D-06-06 9/16"X18 10 06 21 105 19 19
26711D-08-06 3/4"X16 10 | 06 | 25 | 11 | 24 | 24
26711D-08-08 3/4"X16 12 08 245 11 24 24
26711D-08-10 3/4"X16 16 | 10 | 255 | 11 | 24 | 24
26711D-10-08 7/8"X14 12 08 28 13 27 27
26711D-10-10 7/8"X14 16 | 10 | 20 | 13 | 27 | 27
26711D-12-12 1.1/16"X12 20 12 315 15 32 32
26711D-16-12 1.5/16"X12 20 | 12 | 335 | 16 | 41 | 41
26711D-16-16 1.5/16"X12 25 16 345 16 41 41
26711D-16-20 1.5/16"X12 32 | 20 l3es | 16 | a1 | 41
26711D-20-20W  1.7/16"X12 32 20 41 17 50 50
1. 2. 26712D-xx-Xxx

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is 267 12D-xx-xx.

B-71




SWAGED HOSE FITTING

JIC

26711D—-SM

74

JIC FEMALE 74CONE SEAT DOUBLE HEXAGON

SAE J514

E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C s1 s2
26711D-04-04SM | 7/16"X20 6 04 | | 201 o |l 12] 15
26711D-05-04SM 1/2"X20 6 04 205 95 12 A7
26711D-06-04SM |  9/16"X18 6 04 | | 21 J1o5 | 14 | 190
26711D-06-06SM 9/16"X18 10 06 21 105 17 19
26711D-08-06SM | 3/4"X16 10 06 | | 23 | 11 | 10| 24
26711D-08-08SM 3/4"X16 12 08 245 11 22 24
26711D-08-10SM | 3/4"X16 16 10 | [ 255 | 11 | 22 | 24
26711D-10-08SM 7/8"X14 12 08 2% 13 22 27
26711D-10-10SM | 7/8"X14 16 10 | [ 271 3] 221 27
26711D-12-12SM  1.1/16"X12 20 12 315 15 27 32
26711D-16-12SM | 1.5/16"X12 20 12 | | 315 | 16 | 32 | 41
26711D-16-16SM  1.5/16"X12 25 16 33 16 32 41
26711D-20-20wsM | 1.7/16°x12 32 20 | [ 30 | 17 | 41| =0

1.

Note: 1.For use with braided hoses.

2.

26712D-xx-xxSM

2.1f use with spiral hoses, hose fitting series number is 26712D-xx-xxSM.

B-72




SWAGED HOSE FITTING

26741 20741W
45 JIC 74
45J1C FEMALE 74CONE SEAT
SAE J514
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A C H s2
26741-04-03 | 716"x20 | 5 | 3 | 1376 ]l o 1721 15
26741-04-04 7/16"X20 6 04 402 9 181 15
267410504 | 12x20 | 6 | 04 | a5 ] 95 | 185 | 17
26741-05-05 1/2"X20 8 05 427 95 193 17
267410506 |  1/2’x20 | 10 | 06 | | 446 | 95 | 203 | 17
26741-06-04 9/16"X18 6 04 405 105 185 19
26741-06-05 |  9/16"x18 | 8 | 05 | | 426 | 105 | 193 | 19
26741-06-06 9/16"X18 10 06 443 105 20 19
26741-08-06 | 3/4"x16 | 10 | 06 | las7 | 11 214 | 24
26741-08-08 3/4"X16 12 08 579 11 229 24
26741-1008 | 7/8'x14 | 12 | 08 | Is89 | 13 | 24 | 27
26741-10-10 7/8"X14 16 10 696 13 253 27
26741-10-12 | 7/8"x14 | 20 | 12 | | 757 1 13 | 289 | 27
26741-12-08 1.1/16"X12 12 08 60 15 251 32
26741-12-10 | 1.116x12 | 16 | 10 | | 707 | 15 | 264 | 32
26741-12-12 1.116"X12 20 12 768 15 30 32
26741-14-12__ | 1.316"x12__ | 20 | 12 | 774 1 15 | 30 | 36
26741-16-12 1.5/16"X12 20 12 774 16 30 41
26741-16-16 | 1.5116"x12__ | 25 | 16 | | 857 | 16 | 315 | 41
26741-20-20W 1.5/8"X12 32 20 959 17 352 50
26741-24-20W | 1.7/8'x12 | 32 | 20 | l1009] 20 [401 | 55
26741-24-24W 1.7/8"X12 40 24 1148 20 441 55
| 26741.32.32w | 212'x12 | 50| 32 | | 1359 235 | 516 | 75
1. 2. 26742-XxX-XX

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 26742-xx-xx.

B-73




SWAGED HOSE FITTING

20791W
90 JIC 74
90JIC FEMALE 74CONE SEAT
SAE J514
E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C H S2
26791-04-03 7116"x20 | 5 I T | L2651 o 305 15 |
26791-04-04 7/116"X20 6 04 30 9 335 15
26791-05-04 12x20 | 6 | 04 | | 30 | o5 | 34 | 17 |
26791-05-05 1/2"X20 8 05 33 95 37 17
26791-05-06 1/2x20 | 10 | 06 | l 353 | 95 1393 | 17 |
26791-06-04 9/16X18 6 04 30 105 34 19
26791-06-05 orex1s__| 8 | 05 | | 33 105 | 37 | 19 |
26791-06-06 9/16"X18 10 06 353 105 393 19 |
26791-06-08 9116'x18 | 12 | 08 | | 358 | 105 | 398 | 19 |
26791-08-06 3/4"X16 10 06 353 11 413 24 |
26791-08-08 34'x16 | 12 | 08 | L a1 | 11 lars | 24 |
26791-08-10 3/4"X16 16 10 49 11 475 24
26791-10-08 78x14 | 12 | 08 | [ a1 | 13 | 48 | 27 |
26791-10-10 7/8"X14 16 10 | 56 13 525 27
26791-10-12 78"x14 | 20 | 12 | leso | 13 [ 62 | 27 |
26791-12-08 1.1116"X12 12 08 41 15 495 32
26791-12-10 1116'x12__| 16| R | [ s6 I 15 | 54 | 32 |
26791-12-12 1.1116"X12 20 12 655 15 635 32 |
26791-12-16 11716'x12_ | 25 | 16 | | 74 | 15 Jess | 32 |
26791-14-12 1.3116"X12 20 12 655 15 635 36 |
26791-16-12 1.5/16"X12__| 20 | 12 | les5 | 16 |e3s | 41 |
26791-16-16 1.5116"X12 25 16 767 16 70 41
26791-20-20W 15812 | 32 | 20 | | 915 | 17 |sos | 50 |
26791-24-20W 1.7/8"X12 32 20 915 20 805 55 |
26791-24-24W 1.7/8"X12 20 | 24 | L1094 20 | o4 | 55 |
26791-32-32W _ 2.1/2"X12 50 32 1331 235 1218 75
1. 2. 26792-xx-XX

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is 26792-xx-xx.

B-74



HOSE FITTING

26791-H

90 JIC

90JIC FEMALE 74CONE SEAT

74

E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C H S2
26791-06-04(H66) 9/16"X18 6 04 30 10.5 66 19
26791-08-06(H78) 3/4"X16 10 06 35.3 11 78 24
26791-10-08(H86) 7/8"X14 12 08 41 13 86 27
26791-12-12(H135) 1.1/16"X12 20 12 65.5 15 135 32
26791-16-16(H140) 1.5/16"X12 25 16 76.7 16 140 41

1. 2. 26792-XX-XX
Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 26792-xx-xx.

B-75



SWAGED HOSE FITTING

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is 26792K-xx-xx.

26791K
90 JIC 74
90JIC COMPACT FEMALE 74CONE SEAT
SAE J514
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A c H S1 S2
| 26791Kk-04-04 | 7116'x20 | 6 | 04 | 75 | o | 18 | 11 15
26791K-06-04 9/16"X18 6 04 20 105 205 14 19
26791K-06-06 | 9/16"x18 | 10 | 06 | 20 | 105 | 205 | 16 19
| 26791K-08-06 3/4"X16 10 06 23 11 25 19 24
| 26791k-08-08 | 3/4'x16 | 12 | 08 | 235 | 11 | 25 | 22 24
26791K-10-08 7/8"X14 12 08 25 13 27 22 27
26791K-10-10 | 7/8°x14 | 16 | 10 | 25 | 13 | 27 | 2 27
26791K-12-12  1.1/16"X12 20 12 29 15 31 27 32
26791K-16-16 | 1.5116"x12 | 25 | 16 | 43 | 16 | 343 | 33 41
1 2 26792K-xx-xx

B-76




SWAGED HOSE FITTING

27811
PO TEIN .
90 SAE 90
SAE FEMALE 90?CONE SEAT
SAE J513
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A c s2 |
27811-04-03 |  716"x20 | 5 03 1 121 o | 15| [
27811-04-04 7/16"X20 6 04 15 9 15 i
27811-05-05 | 1/2'x20 | 8 05 | 155 | 95 | 17 | |
27811-06-04 5/8"X18 6 04 17 113 22
27811-06-05 | 5/8"x18 | 8 05 | 17 T3 | 22|
27811-06-06 5/8"X18 10 06 17 113 22
278110808 |  3/4"x16 | 12 08 | 18 1 111 24|
27811-10-08 7/8"X14 12 08 185 13 27
27811-10-10__ | 7/8"x14 | 16 10 20 | 13 | 27 |
27811-12-12 1.1/116"X14 20 12 215 143 32
1. 2. 27812-xx-Xx

Note: 1.For use with braided hoses.

2.1f use with spiral hoses, hose fitting series number is 27812-xx-xx.

B-77



SWAGED HOSE FITTING

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is 27842-xx-xx.

27841
45 SAE 90
457SAE FEMALE 90?CONE SEAT
SAE J513
E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A c H S2
27841-04-03 | 7/16"X20 5 03 l37z6 | o li72] 15
27841-06-04 5/8"X18 6 04 42 113 20 22
27841-06-05 |  5/8"X18 8 05 1437 | 113 [ 204 | 22
27841-06-06 5/8"X18 10 06 453 113 21 22
27841-08-08 | 3/4"X16 12 08 Isso | 11 233 | 24
27841-10-08 7/8"X14 12 08 582 13 233 27
27841-10-10 | 7/8"X14 16 10 l 696 | 13 | 253 | 27
27841-12-12 1.1116"X14 20 12 768 143 30 32
1. 2. 27842-xx-XX

B-78




SWAGED HOSE FITTING

A
4 27891
T
1 90 SAE a0
907?SAE FEMALE 90?CONE SEAT
O 1 R32 SAE J513
E
90
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A c H s2
27891-04-04 | 7116"x20 | 6 04 | 30 ] 9 |335] 15
27891-06-04 5/8"X18 6 04 30 13 355 22
27891-06-05 |  5/8'x18 | 8 05 | 33 | 113 | 385 | 22 |
27891-06-06 5/8"X18 10 06 353 113 408 22
27891-10-08 |  7/8"x14 | 12 08 | a2 | 13 | 47 | 27
27891-10-10 7/8"X14 16 10 565 13 525 27
| 27801-12.12 | 1.ex14 | 20 12 | 65 | 143 | 635 | 32 |
1. 2. 27892-xx-XX

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 27892-xx-xx.

B-79




SWAGED HOSE FITTING

C. A
i f-R. . -
60 il 3
- ©
S2
28611 28611-W
60

JIS METRIC FEMALE 60?CONE SEAT
E HOSE BORE D IMENSIONS .

PARTNO. THREAD E DN DASH A C S1 S2
28611-12-04 | M12x1.5 | 6 | 04 [ 20 | 9 1 17 17|
28611-14-04W  M14X1.5 6 04 23 10.5 19 19
28611-14-06 | M14x1.5 | 10 I 06 | [ 21 T 105 | 19 19 |
28611-16-04 M16X1.5 6 04 24 10 22 22
28611-16-05 | M16x1.5 | 8 | 05 | I 24 T 10 T 22 22 |
28611-16-06 M16X1.5 10 06 24 10 22 22 |
28611-18-06 | M18X1.5 | 10 I o6 | 24 | 115 | 24 24|
28611-18-08 M18X1.5 12 08 24.5 11.5 24 24
28611-20-08 | M20X1.5 | 12 | 08 | I 285 | 12 | 27 27|

28611-22-08 M22X1.5 12 08 25.5 14 27 27
28611-24-08 | M24x15 | 12 | 08 | | 275 | 15 | 32 32|
28611-24-10 M24X1.5 16 10 28 15 32 32
28611-30-12_ | M30X1.5 | 20 I 12 | | 285 | 183 | 36 36|

28611-33-12 M33X1.5 20 12 31 21.3 41 41
28611-33-16 | M33x1.5 | 25 | 16 | [ 32 | 213 | 41 41|

28611-36-20 M36X1.5 32 20 35.5 20 46 46

28611-42-24W_| M42x15 | 40 L 24 1 | 36 1 188 1 55 55

1 2. 28612-xx-xx

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 28612-xx-xx.

B-80



SWAGED HOSE FITTING

28641 28641-W

45 60
45JIS METRIC FEMALE 60CONE SEAT

E HOSE BORE DIMENSIONS
PARTNO.  THREAD E DN DASH A C H s S2

 28641-14-04 | M14x15 | 6 | Y | | 434 | 105 1 213 | 19 | 19 |
28641-16-05 M16X1.5 8 05 476 10 243 22 22
28641-18-06 | M18x15 | 10 | os | | 492 1115 [ 249 | 24 | 24
28641-22-08 M22X1.5 12 08 621 14 272 27 27

28641-24-10 | M24x1.5 | 16 | 10 | | 747 | 15 [ 209 | 32 | 32 |
28641-30-12 M30X1.5 20 12 78 183 335 36 36
286413316 | m33x15 | 25 | 16 | | 80.0 1213 1357 | a1 | a1
28641-36-20 M36X1.5 32 20 1041 20 419 46 46
28641-42-24W |  Mma2x15 | 40 | 24 | | 11971 188 | 49 | 50 | 55

1. 2. 2864 2-xx-XX

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 28642-xx-xx.

B-81




SWAGED HOSE FITTING

A
A
'/
7
/ /
L
S
\S1
O J
g JLE] s
60 60
28691 28691-W
907 60
907JIS METRIC FEMALE 60?CONE SEAT
E HOSE BORE DIMENSIONS
PARTNO. THREAD E DN DASH A C H s1 s2
28691-14-04W | M14x15 | 6 1 04 | | 30 J105] 40 | 19 | 19
28691-14-06 M14X1.5 10 06 353 105 433 19 19
28691-16-05 | M16X1.5 | 8 | 05 | | 33 | 10 44 | 22 | 22
28691-18-06 M18X1.5 10 06 353 115 463 24 24
28691-22-08 | M22x1.5 | 12 | 08 | | 41 | 14 1525 | 27 | 27
28691-24-10 M24X1.5 16 10 56 15 59 32 32
28691-30-12__ | M30Xx1.5_ | 20 | 122 | | 655 183 715 | 36 | 36
28691-33-16 M33X1.5 25 16 767 213 76 41 41
28691-36-20 | M36x1.5 | 2 | 20 | | o3 | 20| 80 | 46 | 46
28691-42-24W  M42X15 40 24 109.4 188 108 55 55
1. 2. 28692-xx-XX

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 28692-xx-xx.

B-82



SWAGED HOSE FITTING

Note: 1.For use with braided hoses.

2.1f use with spiral hoses, hose fitting series number is 29612-xx-xx.

C. A C A
m
o0 3 2 |11
29611 29611-W
60
JIS GAS FEMALE 60?CONE SEAT
JIS B8363
E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A cC s1  s2
206110203 | G18'x2s | 5 | o0z | | 20 | 7 | 14| 14 |

29611-04-04 G1/4"X19 6 04 21 8 19 19
29611-04-05 | G1/4"x19 | 8 | o5 | |l 211 8 | 19 | 19 |

29611-06-04 G3/8"X19 6 04 23 9 22 22
29611-06-06 | G3/8"x19 | 10 | 06 | | 23 | | 22 | 22 |

29611-08-06 G1/2"X14 10 06 28 12 27 27
20611-08-08 | G1/2'x14 | 12 | 08 | | 265 | 12 | 27 | 27 |

29611-10-10 G5/8"X14 16 10 305 115 30 30
29611-12-10 | G3/4"x14 | 16 | 10 | Il 30 L35 | 32 | 32 |

29611-12-12 G3/4"X14 20 12 305 135 32 32
29611-16-16 | G1"X11__| 25 | T | | 32 | 16 | a1 | 41 |

20611-20-20W  G1.1/4"X11 32 20 43 185 50 50
[ 20611-2424w | G1.122x11 | 40 | 24 | la35 | 19 | 55 | 55 |

29611-32-32W G2'X11 50 32 465 23 70 70

1. 2. 29612-xx-XX

B-83



SWAGED HOSE FITTING

29641 29641-W
457 60
45?J1S GAS FEMALE 60?CONE SEAT
JIS B8363
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN A c H S1
| 206410404 | G1ax19 | 6 | o4 | | 434 | 8 |213 | 19 |
29641-06-06 G3/8"X19 10 06 489 9 248 22
| 29641-08-08 | G1/2'x14 | 12 | 08 | le3s | 12 275 | 27 |
29641-12-12 G3/4"X14 20 12 813 135 339 32
| 20641-16-16 | Gc1'x11 | 25 | 16 | |s73 | 16 |361 | 41 |
29641-20-20W  G1.1/4"X11 32 20 1044 185 437 50
29641-24-24W | G1.1/2'x11 | 40 | 24 | |1215 | 19 |508 | 55 |
29641-32-32W G2"X11 50 32 1406 23 576 70
1. 2. 29642-xx-XX
Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 29642-xx-xx.

B-84



SWAGED HOSE FITTING

0
29691 29691-W
90 60
90JIS GAS FEMALE 60CONE SEAT
JIS B8363
E HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A C H S S2
[ 29691-04-04 | G1ax19 | 6 4 | | 30 | 8 | 38| 19 ] 19 ]
29691-04-05 G1/4"X19 8 05 34 8 41 19 19
| 206910606 | Gasx1o | 10 o | [ 356 ] 9 [ass| 22 | 22 |
29691-08-08 G1/2"X14 12 08 41 12 53 27 27
[ 29691-10-10 | Gsisx14 | 16 10 | lses5 11151 61 | 30 | 30 |
29691-12-12 G3/4"X14 20 12 655 135 69 32 32
[ 20691-16-16 | c1x11 | 25 16 | l 7671 16 17651 41 | 41 |
29691-20-20W  G1.1/4"X11 32 20 915 185 925 50 50
| 20691-24-24w | G1.12%x11 | 40 24 | 11094 | 19 [1105] 55 | 55 |
29691-32-32W G2"X11 50 2 1318 23 1338 70 70
1. 2. 29692-Xx-XX

Note: 1.For use with braided hoses.

2.1f use with spiral hoses, hose fitting series number is 29692-xx-xx.

B-85



HOSE FITTING

40011

SOCKET WELD HOSE FITTING

D HOSE BORE DIMENSIONS

PART NO. TUBE O.D. DN DASH A B
40011-08-04 8 6 04 14.5 5
40011-09-04 9 6 04 14.5 5
40011-10-04 10 6 04 14.5 5
40011-10-05 10 8 05 12.5 5
40011-13-05 13 8 05 15 5
40011-15-06 15 10 06 15.5 5
40011-16-08 16 12 08 14 5
40011-20-08 20 12 08 16.5 5
40011-22-10 22 16 10 18 5

1 2. 40012-xx-XXx

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 40012-xx-xx.

B-86




SWAGED HOSE FITTING

A

Note: 1.For use with braided hoses.

2.1f use with spiral hoses, hose fitting series number is 50012-xx-xx.

: 50011
1111111711’7;"
: )
METRIC STANDPIPE STRAIGHT
DIN 2353
D HOSE BORE DIMENSIONS
PART NO. TUBE O.D. DN DASH A c NOTE
50011-06-03 6 5 | 03 | 285 22 |
50011-06-04 6 6 04 29 22
50011-10-05 10 8 | 05 | 31 23 |
50011-10-06 10 10 06 32 23
50011-12-06 12 10 | 06 | 335 23 |
50011-12-08 12 12 08 33 23
50011-15-06 15 10 | 06 | 355 25 |
50011-15-08 15 12 08 355 25
50011-18-08 18 12 | 08 | 365 26 |
50011-18-10 18 16 10 41 26
50011-22-10 22 16 | 10 | 44 28 |
50011-22-12 22 20 12 44 28
50011-22-16 22 25 | 16 | 46 28 |
50011-28-16 28 25 16 47 30
50011-35-20 35 32 | 20 | 56 36 |
50011-42-24 42 40 24 62 40
50011-08-04 8 6 | 04 | 31 24 |
50011-08-05 8 8 05 33 24
50011-08-06 8 10 | 06 | 33 24 |
50011-10-04 10 6 04 35 26
50011-12-04 12 6 | 04 | 345 26 |
50011-12-05 12 8 05 35.5 26
50011-14-06 14 10 | 06 | 395 29 |
50011-14-08 14 12 08 40 29
~ 50011-14-12 14 20 | 12 | 455 29 |
50011-16-08 16 12 08 41 30
50011-16-10 16 16 | 10 | 455 30 |
50011-20-10 20 16 10 52.5 36
50011-20-12 20 20 | 12 | 525 36 |
50011-25-12 25 20 12 56 40
50011-25-16 25 25 | 16 | 57 40 |
50011-30-16 30 25 16 63 44
50011-30-20 30 32 | 20 | 64 44 |
50011-38-16 38 25 16 69 50
50011-38-20 38 32 | 20 | 70 50 |
1. 2. 50012-xx-xx

B-87



SWAGED HOSE FITTING

457
45?METRIC STANDPIPE STRAIGHT

50041

D HOSE BORE DIMENSIONS
PART NO. TUBE O.D. DASH A c H NOTE
50041-06-03 | 6 | 5 03 | 46 | 2 25.7
50041-06-04 6 6 04 487 22 26.6
50041-08-05 | 8 | 8 05 | 520 | 24 29.2
50041-08-06 8 10 06 53.8 24 295
50041-10-05 | 10 j | 8 05 | 515 | 23 285
50041-10-06 10 10 06 53.1 23 28.8
50041-12-06 | 12 | 10 06 | 531 | 23 28.8
50041-15-06 15 10 06 54.5 25 30.3
50041-15-08 | 15 | 12 08 | 667 | 25 31.8
50041-18-08 18 12 08 67.4 26 325
50041-18-10 | 18 | 16 10 | 786 | 26 338
50041-22-10 22 16 10 79.5 28 37.2
50041-22-12_| 22 | 20 12 | 862 | 28 38.8
50041-28-16 28 25 16 96.7 30 424
50041-35-20 | 35 | 32 20 | 116 | 36 49.3
50041-08-04 8 6 04 50.1 24 28
50041-10-04 | 10 | 6 04 | 515 | 26 204
50041-12-04 12 06 04 51.5 26 29.4
50041-12-05 | 12 | 8 05 | 483 | 26 24.4
50041-14-06 14 10 06 57.3 29 33.1
50041-14-08 | 14 | 12 08 | 696 | 29 346
50041-16-08 16 12 08 63.2 30 28.2
50041-16-10 | 16 | 16 10 | s09 | 30 36.6
50041-20-10 20 16 10 85.7 36 40.9
50041-20-12_| 20 | 20 12 [ o9 | 36 445
50041-25-12 25 20 12 94.7 40 473
50041-25-16 | 25 | 25 16 | 1023 | 40 48.1
50041-30-16 30 25 16 105.8 44 54.4
50041-30-20 | 30 | 32 20 | 1172 | 44 54.9
50041-38-16 38 25 16 110 50 58.6
50041-38-20 | 38 | 32 20 | 1214 | =0 59.1
1. 2. 5004 2-xx-xx
Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 50042-xx-xx.

B-88




SWAGED HOSE FITTING

A
50091
= 907
O 90?METRIC STANDPIPE STRAIGHT
DIN 2353
D
D HOSE BORE DIMENSIONS
PART NO. TUBE O.D. DN DASH A c H NOTE
50091-06-03 | 6 05 | 03 | 265 | 22 | 425
50091-06-04 6 6 04 30 22 455
50091-08-05 | 8 8 | 05 | 33 | 24 | s05
50091-08-06 8 10 06 35.3 24 52.8
50091-10-05 | 10 8 | 05 | 33 | 23 | 495
50091-10-06 10 10 06 35.3 23 51.8
50091-12-06 | 12 10 | 06 | 353 | 23 | 538
50091-12-08 12 12 08 41 23 59
50091-15-06 | 15 10 | 06 | 353 | 25 | s38
50091-15-08 15 12 08 41 25 59
50091-18-08 | 18 12 | 08 | 41 | 26 | oo
50091-18-10 18 16 10 56.5 26 64.5
50091-22-10 | 22 16 | 10 | s65 | 28 | 665
50091-22-12 22 20 12 65.5 28 76
50091-22-16 | 22 25 | 16 | 767 | 28 | 815
50091-28-16 28 25 16 76.7 30 835
50091-35-20 | 35 32 | 20 | 93 | 36 | 1005
50091-08-04 8 6 04 30 24 475
50091-10-04 | 10 6 | 04 | 30 | 26 | 495
50091-12-04 12 6 04 30 26 495
50091-12-05 | 12 8 | 05 | 33 | 26 | 525
50091-14-06 14 10 06 35.3 29 57.8
50091-14-08 | 14 12 | 08 | 41 | 20 | 63
50091-16-08 16 12 08 41 30 64
50091-16-10 | 16 16 | 10 | se5 | 30 | e85
50091-20-10 20 16 10 56.5 36 74.5
50091-20-12 | 20 20 | 12 | 655 | 36 | ss5
50091-25-12 25 20 12 65.5 40 89
50091-25-16 | 25 25 | 16 | 767 | 40 | o35
50091-30-16 30 25 16 76.7 40 93.5
50091-30-20 | 30 32 | 20 | 915 | 44 | 1085
50091-38-16 38 25 16 76.7 50 115.5
50091-38-20_| 38 32 | 20 | o015 | 50 | 1145

1.
Note: 1.For use with braided hoses.

2.

50092-xx-xx

2.If use with spiral hoses, hose fitting series number is 50092-xx-xx.

B-89




HOSE FITTING

m 51011

0
GB METRIC STANDPIPE
—
D HOSE BORE D IMENSIONS

PART NO. TUBE O.D. DN DASH A C
51011-04-03 4 5 03 27 17
51011-06-03 6 5 03 30.5 19
51011-06-04 6 6 04 31 19
51011-08-04 8 6 04 31 19
51011-08-05 8 8 05 31.5 19
51011-08-06 8 10 06 32 19
51011-10-04 10 6 04 35 22
51011-10-05 10 8 05 35 22
51011-10-06 10 10 06 35 22
51011-12-05 12 8 05 35 22
51011-12-06 12 10 06 35 22
51011-14-06 14 10 06 35 22
51011-14-08 14 12 08 35.5 22
51011-16-06 16 10 06 35 22
51011-16-08 16 12 08 36 22
51011-16-10 16 16 10 36.5 22
51011-16-12 16 20 12 38 22
51011-18-12 18 20 12 41.5 24
51011-22-12 22 20 12 45 28
51011-22-14 22 22 14 45 28
51011-28-16 28 25 16 49 30
51011-34-20 34 32 20 53 33
51011-42-24 42 40 24 57 35

1 2. 51012-XX-XX

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is51012-xx-xx.

B-90



HOSE FITTING

A )
51041
45
GB METRIC 45STANDPIPE
D HOSE BORE DIMENSIONS
PART NO. TUBE O.D. DN DASH A C H

51041-06-04 6 6 04 46.6 19 26.6
51041-08-04 8 6 04 46.6 19 26.6
51041-08-05 8 8 05 48.7 19 25.7
51041-10-04 10 6 04 48.7 22 26.6
51041-10-06 10 10 06 52.4 22 28.1
51041-12-06 12 10 06 52.4 22 28.1
51041-14-06 14 10 06 52.4 22 28.1
51041-14-08 14 12 08 64.6 22 29.7
51041-16-10 16 16 10 75.8 22 31
51041-18-12 18 20 12 83.4 24 36
51041-22-14 22 22 14 86.7 28 38.3
51041-28-16 28 25 16 96.7 30 42.4
51041-34-20 34 32 20 109.5 | 33 47.2
51041-42-24 42 40 24 1233 | 35 52.6

1.

Note: 1.For use with braided hoses.

2,

51042-xx-xx

2.If use with spiral hoses, hose fitting series number is 51042-xx-xx.

B-91




HOSE FITTING

A
7 /_"[[ﬂﬂmmj'
[ 51091
%
@) 90
GB METRIC 90STANDPIPE
D
D HOSE BORE DIMENSIONS

PART NO. TUBE O.D. DN DASH A C H
51091-06-04 6 6 04 30.5 19 42.5
51091-06-06 6 10 06 35.3 19 47.8
51091-08-04 8 6 04 30 19 42.5
51091-08-05 8 8 05 33 19 45.5
51091-10-04 10 6 04 30 22 45.5
51091-10-06 10 10 06 35.8 22 50.8
51091-12-06 12 10 06 353 | 22 | 508
51091-12-08 12 12 08 41 22 56
51091-14-06 14 10 06 35.3 22 50.8
51091-14-08 14 12 08 41 22 56
51091-15-10 15 16 10 56.5 26 64.5
51091-16-08 16 12 08 42 22 56
51091-16-10 16 16 10 56.5 22 60.5
51091-18-10 18 16 10 56.5 24 62.5
51091-18-12 18 20 12 64.9 24 72
51091-22-14 22 22 14 71.2 28 77
51091-28-16 28 25 16 76.7 30 83.5
51091-34-20 34 32 20 91.5 33 97.5
51091-42-24 42 40 24 109.4 35 113

1. 2. 20142-xx-xx

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 20142-xx-xx.

B-92



SWAGED HOSE FITTING

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is 60012-xx-xx.

A
4;/]7_}% 60011
S| X ¥
— I - MT STAPLE-LOK MALE
HOSE BORE DIMENSIONS

PART NO. DN DASH A C J K
60011-04-04 6 04 31 25 15 11
60011-05-05 8 05 335 | 26 18 | 13
60011-06-06 10 06 33 26 18 15
60011-08-06 10 06 33.5 26 22 18
60011-08-08 1 g 08 34 ﬁ26 ﬂ 18
60011-10-10 16 10 38.5 30 25 1 20
60011-12-12 20 12 405 | 31 28 | 24
60011-16-14 2_2 14 41 31 35 30
60011-16-16 25 16 41 31 35 30
1. 2. 60012-xx-XX

B-93



SWAGED HOSE FITTING

A
d : 70011
T )
_U_I_ﬂ]]][ ] METRIC BANJO
DIN 7642
HOSE BORE DIMENSIONS
PART NO. BOLT DN DASH A d D H
70011-10-03 | m10x1 | 5 | 03 | | 145 | 101 | 17 T 10
70011-10-04 M10X1 6 04 17 10.1 17 10
70011-12-04 |  M12x15 | 6 | 04 | | 205 | 124 I 20 | 12
70011-12-05 M12X1.5 8 05 20.5 12.1 20 12
70011-12-06 | M12x15 | 10 | 06 | | 205 | 124 I 20 | 12
70011-14-04 M14X1.5 6 04 19 14.1 24 14
70011-14-05 | Mm14x15 | 8 | 05 | | 19 | 141 | 24 | 14
70011-14-06 M14X1.5 10 06 21 14.1 24 14
70011-16-04 | M16x15 | 6 | Y | | 205 | 1614 | 28 | 16
70011-16-05 M16X1.5 8 05 20.5 16.1 28 16
70011-16-06 | M16x1.5 | 10 | 06 | | 205 | 161 | 28 | 16
70011-18-04  M18X15 6 04 23 18.1 32 20
70011-18-05 | M18x1.5 | 8 | 05 | | 24 | 181 1 32 | 20
70011-18-06 M18X1.5 10 06 24 18.1 32 20
70011-1808 | m18x15 | 12 | 08 | | 245 | 181 | 32 | 20
70011-22-06 M22X1.5 10 06 28.1 22.1 39 25
70011-22-08 |  m22x1.5 | 12 | 08 | | 285 | 224 | 39 | 25
70011-22-10 M22X1.5 16 10 27.5 22.1 39 25
70011-26-12 | Mm26x1.5 | 20 | 12 | | 305 | 2614 | 46 | 30
70011-30-16 M30X1.5 25 16 37 30.1 54 36
70011-30-20 | M30x15 | 32 | 20 | | 41 | 301 | 54 | 36
1. 2. 70012-XX-XX

Note: 1.For use with braided hoses.

2.1f use with spiral hoses, hose fitting series number is70012-xx-xx.

B-94




HOSE FITTING

. C . A
T00M
S1
| L METRIC BOLT
DIN 7643
S——————
E DIMENSIONS
PART NO. THREAD E A B C S1
700M-10 |  wm10x1 | | 19 4 | 6 | 17 |
700M-12 M12X1.5 24 6 6 17
7ooM-14 | wm14ax15 | | 26 8 | 7 | 19 |
700M-16 M16X1.5 28 9 7.5 22
7oo0M-18 | wm18x15 | | 32 11 | 8 | 24 |
700M-22 M22X1.5 39 14 9 27
7ooM-26 | M26x1.5 | | 45 18 | 10 | 32 |
700M-30 M30X1.5 51 22 11 38

B-95



HOSE FITTING

d
. a -L J 71011
A JB METRIC BANJO
HOSE BORE DIMENSIONS

PART NO. BOLT DN DASH A d D H
71011-06-04 M6X1 6 04 16 6 18 12
71011-08-04 M8X1 6 04 17 8 20 13
71011-10-04 M10X1 6 04 19 10 22 13
71011-10-05 M10X1 8 05 19 10 22 13
71011-10-06 M10X1 10 06 19 10 22 13
71011-12-06 M12X1.5 10 06 21 12 26 15
71011-14-04 M14X1.5 6 04 20.5 14 28 18
71011-14-05 M14X1.5 8 05 21.5 14 28 18
71011-14-06 M14X1.5 10 06 21.5 14 28 18
71011-14-08 M14X1.5 12 08 22.5 14 28 18
71011-16-05 M16X1.5 8 05 22.5 16 32 18
71011-16-08 M16X1.5 12 08 25 16 32 18
71011-18-06 M18X1.5 10 06 26.5 18 36 22
71011-18-08 M18X1.5 12 08 27 18 36 22
71011-18-10 M18X1.5 16 10 27.5 18 36 22
71011-20-06 M20X1.5 10 06 29.5 20 36 22
71011-20-08 M20X1.5 12 08 30 20 36 22
71011-22-10 M22X1.5 16 10 30.5 22 46 30
71011-22-12 M22X1.5 20 12 31 22 46 30
71011-27-10 M27X2 16 10 36.5 27 56 36
71011-27-14 M27X2 22 14 36 27 56 36
71011-27-16 M27X2 25 16 36 27 56 36
71011-33-12 M33X2 20 12 43 33 64 50
71011-42-20 M42X2 32 20 54 42 78 64

1 7 1012-xx-xx

. 2.
INote: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 71012-xx-XxXx.

B-96



HOSE FITTING

- C A
V7777777774 | T10M
/' [ L
JB METRIC BOLT
e — e
S1
E DIMENSIONS

PART NO. THREAD E A B C S1
710M-10 M10X1 25 4 6 17
710M-14 M14X1.5 32 8 7 19
710M-18 M18X1.5 38 11 8 24
710M-22 M22X1.5 48 14 9 30
710M-27 M27X2 60 18 10 36
710M-33 M33X2 63 22 12 41
710M-42 M42X2 85 28 14 55

B-97



HOSE FITTING

d
72011
BSP BANJO
A
E HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A d D H
72011-02-03 G1/8"X28 5 03 18 9.9 24 16
72011-02-04 G1/8"X28 6 04 18.5 9.9 24 16
£2011-04-03 G1/4"X19 o) 03 19 13.3 24 15
72011-04-04 G1/4"X19 6 04 19.5 13.3 24 15
72011-04-05 G1/4"X19 8 05 19.5 13.3 24 15
72011-04-06 G1/4"X19 10 06 19.5 13.3 24 15
72011-06-04 G3/8"X19 6 04 22 16.7 29 20
72011-06-05 G3/8"X19 8 05 22 16.7 29 20
72011-06-06 G3/8"X19 10 06 22 16.7 29 20
72011-06-08 G3/8"X19 12 08 23 16.7 29 20
72011-08-05 G1/2"X14 8 05 27.5 21 38 25
72011-08-06 G1/2"X14 10 06 27.5 21 38 25
72011-08-08 G1/2"X14 12 08 28 21 38 25
72011-08-10 G1/2"X14 16 10 29 21 38 25
72011-10-10 G5/8"X14 16 10 28 23 40 27
72011-12-10 G3/4"X14 16 10 32 26.5 48 31
72011-12-12 G3/4"X14 20 12 32 26.5 48 31
72011-16-08 G1"X11 12 08 40 33.3 60 42
72011-16-12 G1"X11 20 12 40 33.3 60 42
72011-16-16 G1"X11 25 16 41 33.3 60 42

1

INote: -1.For use with braided hoses.

27
2.

2012-xx-xx

If use with spiral hoses, hose fitting series number is 72012-xx-xx.

B-98




HOSE FITTING

C A
/Z/// V77777777 720B
L
S1
‘\t BSP BOLT
E DIMENSIONS
PART NO. THREAD E A B C S1
720B-02 G1/8"X28 29.5 4.8 4.8 14
720B-04 G1/4"X19 28.5 6 6 19
720B-06 G3/8"X19 38.5 9 7 22
720B-08 G1/2"X14 44 13 8.5 27
720B-10 G5/8"X14 485 15 10 30
720B-12 G3/4"X14 56 18 10 32
720B-16 G1"X11 68.5 22 13 41

B-99



SWAGED HOSE FITTING

A
L 87311
SAE 3000 PSI
O+ SAE FLANGE 3000 PSI
ISO 12151-3--SAE J516
HOSE BORE DIMENSIONS

PARTNO. FLANGE SIZE DN DASH A c D L
87311-08-08 | 1/2" | 12 | S | | 46 | 302 | 24 | 673
87311-12-08 3/4" 12 08 47 381 317 673
87311-12-10 | 3/4" | 16 | 10 | | 48 | 381 | 317 | 673
87311-12-12 3/4" 20 12 48 381 317 673
87311-12-16 | 34" | 25 | 16 | | 49 | 381 | 317 | 673
87311-16-12 1" 20 12 51 444 38 8
87311-16-16 | 1" | 25 | 16 | | 52 | 444 | 38 | 8
87311-16-20 1" 32 20 53 444 38 8
87311-20-16 | 1.1/4" | 25 | 16 | | 57 Is08 | a3 | 8
87311-20-20 1.1/4" 32 20 58 508 43 8
873112420 | 112" | 32 | 20 | | 68 1603 ] 50 | 8
87311-24-24 1.4/2" 40 24 68 603 50 8
87311-32-24 | o | 40 | 24 | | 70 I 714 | 62 | 953
87311-32-32 2" 50 32 70 714 62 953
73114040 | 217" | 64 | 20 | | 76 1841 | 74 | 053
1. 2. 87312-xx-Xx

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 87312-xx-xx.

B-100



HOSE FITTING

\.
; — . il 87331
T "X
AL 30SAE 3000 PS|
3 30SAE FLANGE 3000 PSI
HOSE BORE (0] DIMENSIONS
PART NO. FLANGE SIZE DN DASH O RING C D H L
87331-08-08 1/2" 12 08 18.64X3.53 302 1239 | 147 7
87331-12-12 3/4" 20 12 24.99X3.53 38.1 1317 ] 18.3 7
87331-16-12 1" 20 12 32.92X3.53 444 § 38 1183 | 8.2 |
87331-16-16 1" 25 16 32.92X3.53 444 | 38 | 183 | 8.2
87331-20-16 1.1/4" 25 16 37.69X3.53 508 1432 1183 | 82
87331-20-20 1.1/4" 32 20 37.69X3.53 50.8 1432 1205 | 82 |
87331-24-20 1.1/2" 32 20 47.22X3.53 60.3 1503 | 23 | 82 |
| 87331-24-24 1.1/2" 40 24 47.22X3.53 60.3 1 50.3 1248 | 82 |
87331-32-32 2" 50 32 56.74X3.53 714 1622 1286 | 98 |
1. 2.8 7332-XX-XX
|Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 87332-xx-xx.

B-101



SWAGED HOSE FITTING

87341

45SAE 3000 PSI
45SAE FLANGE 3000 PSI
ISO 12151-3--SAE J516

HOSE BORE DIMENSIONS

PARTNO. FLANGE SIZE DN DASH A C D H L
87341-08-08 | 12" | 12 | o0 | Is82 13021 24 |233 1673 ]|
87341-12-08 3/4" 12 08 589 381 317 24 6.73
87341-12-10 | 3/4" | 16 | 10 | | 696 13811317 1253 |6.73 |
87341-12-12 3/4" 20 12 763 381 317 289 6.73
87341-16-12_ | 1" | 20 | 12 | | 763 1444 | 38 [2890 | 8
87341-16-16 1" 25 16 839 444 38 297 8
87341-16-20 | 1" | 32 | 20 | loas f444] 38 [338] 8 |
87341-20-16 1.1/4" 25 16 852 508 43 297 8
87341-2020 | 114" | 32 | 20 | loas 508 43 [338] 8 |
87341-24-20 1.1/2" 32 20 959 603 50 352 8
873412424 | 1120 | 40 |  oa | 10091603 | 50 I39.1] 8 |
87341-32-24 2" 40 24 109.9 714 62 391 953
87341-32-32 | o | | 32 | [129.3] 714 | 62 | 463 953

1. 2. 87342-xx-Xx
Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 87342-xx-xx.

B-102



HOSE FITTING

H

87361

60SAE 3000 PSI
60SAE FLANGE 3000 PSI

[Note: 1.For use with braided hoses.

HOSE BORE (0] DIMENSIONS

PART NO. FLANGE SIZE DN DASH O RING C D H L
87361-08-08 1/2" 12 08 18.64X3.53 30.2 1239 1319 7
87361-12-08 3/4" 12 08 24.99X3.53 38.1 }131.7 ] 33.6 7
87361-12-12 3/4" 20 12 24.99X3.53 38.1 131.7 1414 7
87361-12-16 3/4" 25 16 24.99X3.53 38.1 | 31.7 7
87361-16-12 1" 20 12 32.92X3.53 444 | 38 1414 | 82

| 87361-16-16 1" 25 16 32.92X3.53 444 1 38 1434 | 82 |

87361-16-20 1= 32 20 32.92X3.53 444 | 38 8.2
87361-20-16 1.1/4" 25 16 37.69X3.53 50.8 1432 1434 | 82 |
87361-20-20 1.1/4" 32 20 37.69X3.53 50.8 1432 1496 | 82
87361-20-24 1.1/4" 40 24 37.69X3.53 50.8 | 43.2 8.2
87361-24-20 1.1/2" 32 20 47.22X3.53 60.3 1503 1539 | 82
87361-24-24 1.1/2" 40 24 47.22X3.53 60.3 1503 160.7 | 82
87361-32-24 2" 40 24 56.74X3.53 714 1622 160.7 | 9.8
87361-32-32 2" 50 32 56.74X3.53 714 1622 1719 ] 98
87361-40-32 2.1/2" 50 32 69.44X3.53 84.1 | 74.4 9.8

1 2.8 7362-xx-XX

2.1f use with spiral hoses, hose fitting series number is 87362-xx-xx.

B-103



HOSE FITTING

87361 (V62. 5)

62.5SAE 3000 PSI
62.5SAE FLANGE 3000

PSI
HOSE BORE DIMENSIONS
PART NO. FLANGE SIZE DN DASH A C D H
87361-12-12(V62.5) 3/4" 20 12 102.2 | 38.1 | 32 424
87361-16-16(V62.5) 1" 25 16 105 |44.4 | 38 447
87361-20-20(V62.5) 1.1/4" 32 20 122.8 1508 | 43 | 51.3
87361-24-24(V62.5) 1.1/2" 40 24 146.6 160.3 | 50 }60.4

B-104



SWAGED HOSE FITTING

87391

90SAE 3000 PSI
90SAE FLANGE 3000 PSI
ISO 12151-3--SAE J516

HOSE BORE DIMENSIONS

PART NO. FLANGE SIZE DN DASH A C D H L

[ 873910808 | 12 | 12 | o8 | | 41 |302] 24 | 47 |6.73]
87391-12-08 3/4" 12 08 41 381 317 48 6.73

[ 87391-12-10 | 34 | 16 | 10 | | 56 |38.1131.7]1525]6.73|
87391-12-12 3/4" 20 12 662 381 317 62 673

[ 87391-1216 | 34" | 25 | 16 | [76.7 138113171675 ]6.73 ]
87391-16-12 1" 20 12 655 444 38 62 8

[ 87391-16-16 | 1" | 25 | T | 767 1444 38 le75] 8 |
87391-16-20 1" 32 20 915 444 38 785 8

| 873912006 | 114 | 25 | 16 | I76.7 1508] 43 I675] 8 |
87391-20-20 1.1/4" 32 20 915 508 43 785 8

[ 873912024 | 114 | 20 | 24 | | 107 ]508] 43 |785] 8 |
87391-24-20 1.1/2" 32 20 915 603 50 805 8

[ 873912424 | 11720 | 40 | Y | l100.4] 603 ] 50 | 94 | 8 |
87391-32-24 or 40 24 109.4 714 62 94 953

| 873913232 | on | 5o | 32 | |131.8] 71.4 | 62 |114.3] 953 |
87391-40-32 2.1/2" 50 2 131.8 841 744 1163 9.53
1. 2. 87392-xx-Xx

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 87392-xx-xx.

B-105



HOSE FITTING

A
=
- 87391-H
I
90 SAE 3000 PSI
— 90 SAE FLANGE 3000 PSI
C
HOSE BORE DIMENSIONS

PART NO. FLANGE SIZE DN DASH A C D H L
87391-12-12(H90) 3/4" 20 12 65.5 38.1 32 90 6.73
87391-12-12(H100) 3/4" 20 12 65.5 38.1 32 100 | 6.73
87391-12-12(H127) 3/4" 20 12 65.5 38.1 32 127 | 6.73
87391-12-12(H150) 3/4" 20 12 65.5 38.1 32 150 | 6.73
87391-16-16(H100) 1" 25 16 76.7 44.4 38 100 8
87391-16-16(H127) 1" 25 16 76.7 44 .4 38 127 8
87391-16-16(H150) 1" 25 16 76.7 44 .4 38 150 8
87391-20-20(H100) 1.1/4" 32 20 91.5 50.8 43 100 8
87391-20-20(H127) 1.1/4" 32 20 91.5 50.8 43 127 8
87391-20-20(H150) 1.1/4" 32 20 91.5 50.8 43 150 8
87391-24-24(H127) 1.1/2" 40 24 109.4 60.3 50 127 8

B-106



SWAGED HOSE FITTING

A
L 87611
SAE 6000 PSI
Ol 4 SAE FLANGE 6000 PSI
ISO 12151-3--SAE J516
HOSE BORE D IMENSIONS
PARTNO. FLANGE SIZE DN DASH A C D L
87611-08-08 | 12" [ 12 | os | 47 [317 ] 24 [ 775 |
87611-12-10 3/4" 16 10 50.5 41.3 32 8.76
87611-12-12 | 34" | 20 | 12 | 51 [413] 32 [876 | |
87611-16-12 1" 20 12 56 47.6 38 9.53
87611-16-16 | 1" [ 25 | 16 | 57 [476] 38 | 053 | |
87611-16-20 1" 32 20 61 476 38 953
87611-20-16 |  1.1/4" | 25 | T | 65 | 54 | 44 [1020] |
87611-20-20 1.1/4" 32 20 66 54 44 10.29
87611-24-20 | 1120 | 32 | | 75 l63s | 51 [1257] |
87611-24-24 1.1/2" 40 24 75 635 51 1257
87611-32-24 | 2" 40 | o4 | 85 [ 704 | 67 12571 |
87611-32-32 2" 50 32 85 794 67 1257
1. 2. 87612-xx-XX

Note: 1.For use with braided hoses.

2.1f use with spiral hoses, hose fitting series number is 87612-xx-xx.

B-107



HOSE FITTING

-

NN
[
I\

‘\'

87631

30SAE 6000 PSI
30SAE FLANGE 6000 PSI

HOSE BORE O DIMENSIONS
PART NO. FLANGE SIZE } DN DASH O RING A C D H L
87631-08-08 1/2" 12 08 18.64X3.53 31.7 § 239 1157 | 7.9
87631-12-12 3/4" 20 12 24.99X3.53 41.3 | 31.7 1 19.8 | 8.9
87631-16-12 1" 20 12 32.92X3.53 47.6 | 38 9.6
87631-16-16 1" 25 16 32.92X3.53 47.6 | 38 |120.8 | 9.6
87631-16-20 1" 32 20 32.92X3.53 47.6 | 38 9.6
87631-20-16 1.1/4" 25 16 37.69X3.53 54 | 43.6 10.4
87631-20-20 1.1/4" 32 20 37.69X3.53 54 1436 24 |104
87631-24-20 1.1/2" 32 20 47.22X3.53 63.5 | 50.8 | 25.5 | 12.7
87631-24-24 1.1/2" 40 24 47.22X3.53 63.5 | 50.8 | 27.3 |12.7
87631-32-24 2" 40 24 56.74X3.53 79.4 ) 66.5 }27.3 |12.7
87631-32-32 2" 50 32 56.74X3.53 79.4 1665|312 |12.7

B-108




SWAGED HOSE FITTING

87641

45SAE 6000 PSI
45SAE FLANGE 6000 PSI
ISO 12151-3--SAE J516

HOSE BORE DIMENSIONS
PARTNO. FLANGE SIZE DN DASH A C D H L
| s764108-08 | 12" | 12 | o8 | 589|317 24 | 24 | 7.75 |
87641-08-12 1/2" 20 12 77 317 24 296 175
[ s7ea1-1210 | 3an | T T | [ 725 [413] 32 J282 | 8.76 |
87641-12-12 3/4" 20 12 792 413 32 318 876
[ 87641-16-16 | 1" | 25 | T I | 880|476l 38 1347 ] 953 |
87641-20-20 1.1/4" 32 20 1023 54 44 415 1029
[ 876412420 | 1120 | 32 [ 20 | [105.8] 635 | 51 |45.1 | 1257 |
87641-24-24 1.1/2" 40 24 1198 635 51 49 1257
[ 87641-32-24 | 2" | 40 Y [125.4] 794 | 67 |54.7 | 12,57 |
87641-32-32 o 50 32 1448 794 67 619 1257
1. 2. 87642-xx-xx

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 87642-xx-xx.

B-109



HOSE FITTING

87661

I~
60 SAE 6000 PSI
g 60 SAE FLANGE 6000 PSI
HOSE BORE o DIMENSIONS
PART NO. FLANGE SIZE | DN DASH ORING C D | H | L
87661-08-08 1/2" 12 08 18.64X3.53 31.7 1239 1336 | 7.9
87661-12-12 3/4" 20 12 24.99X3.53 413 1317 | 44 | 89
87661-16-12 1" 20 12 32.92X3.53 476 | 38 9.6
87661-16-16 1" 25 16 32.92X3.53 47.6 | 38 |47.7| 96
87661-16-20 1" 32 20 32.92X3.53 476 | 38 9.6
87661-20-16 1.1/4" 25 16 37.69X3.53 54 | 436 10.4
87661-20-20 1.1/4" 32 20 37.69X3.53 54 | 436 |55.7 | 104
87661-24-20 1.1/2" g 20 47.22X3.53 63.5 | 50.8 | 58.3 | 12.7
87661-24-24 1.1/2" 40 24 47.22X3.53 63.5 | 508 | 65 | 12.7
87661-32-24 2" 40 24 56.74X3.53 794 1 665 | 65 | 127
87661-32-32 2" 50 32 56.74X3.53 794 | 665 1 76.3 | 12.7

B-110




HOSE FITTING

87661 (V62. 5)

62.5SAE 6000 PSI

62.5SAE FLANGE 6000

PSI
HOSE BORE DIMENSIONS
PART NO. FLANGE SIZE DN DASH A C D H L
87661-12-12(V62.5) 3/4" 20 12 93.3 |41.3 | 32 46 | 8.76
87661-16-16(V62.5) 1" 25 16 108.3 |47.6 | 38 }|50.9 |9.53
87661-20-20(V62.5) 1.1/4" 32 20 127.8 | 54 44 161.1 |10.29
87661-24-24(V62.5) 1.1/2" 40 24 153 |1 63.5 | 51 }72.8 }12.57

1

. 2.8
[Note: 1.For use with braided hoses. 2.

7662-XX-XX

If use with spiral hoses, hose fitting series number is 87662-xx-xx.

B-111




SWAGED HOSE FITTING

87691

90SAE 6000 PSI
90SAE FLANGE 6000 PSI
ISO 12151-3--SAE J516

HOSE BORE DIMENSIONS
PART NO. FLANGE SIZE DN DASH A C D H L
87691-:08-08 | 12 | 12 | o8 | | 41 I317] 24 | 48 [7.75 |
87691-12-10 3/4" 16 10 56 413 32 565 8.76
87691-12-12 | 3/4" | 20 | 12 | | 655 1413] 32 | 66 | 876
87691-16-12 1" 20 12 655 476 38 69 953
87691-16-16 | 1" I 25 | 16 | | 767 14761 38 | 745 | 953 |
87691-16-20 1" 32 20 915 476 38 855 953 |
87691-20-16 | 1.1/4" | 25 | 16 | | 767 | 54 | 44 | 785 |10.29
87691-20-20 1.1/4" 32 20 915 54 44 895 10.29
87691-24-20 | 112" | 32 I 20 | | 915 le3s ] 51 | 945 |1257
87691-24-24 1.1/2" 40 24 109.4 635 51 108 12,57
87691-32-24 | 2" | 40 | 24 | | 109.4 {79041 67 | 116 |1257
87691-32-32 o" 50 32 1318 79.4 67 136.3 1257
1. 2. 87692-xx-XX

Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 87692-xx-xx.

B-112



HOSE FITTING

87691-H

90SAE 6000 PSI
90SAE FLANGE 6000 PSI

HOSE BORE DIMENSIONS

PART NO. FLANGE SIZE DN DASH A C D H L
87691-12-12(H100) 3/4" 20 12 65.5 | 41.3 32 100 | 8.76
87691-12-12(H127) 3/4" 20 12 65.5 | 41.3 32 127 | 8.76
87691-12-12(H150) 3/4" 20 12 65.5 | 41.3 32 150 | 8.76
87691-16-16(H100) 1" 25 16 76.7 | 47.6 38 100 § 9.53
87691-16-16(H127) 1" 25 16 76.7 | 47.6 38 127 | 9.53
87691-16-16(H150) 1" 25 16 76.7 | 47.6 38 150 | 9.53
87691-20-20(H100) 1.1/4" 32 20 91.5 54 44 100 }10.29
87691-20-20(H127) 1.1/4" 32 20 91.5 54 44 127 §10.29
87691-20-20(H150) 1.1/4" 32 20 91.5 54 44 150 }10.29
87691-24-24(H100) 1.1/2" 40 24 1094 | 63.5 51 100 }12.57
87691-24-24(H127) 1.1/2" 40 24 109.4 | 63.5 51 127 §12.57

1 8 7X92-xx-XX

. 2.
JNote: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 87X92-xx-xx.

B-113




SWAGED HOSE FITTING

A
L 88111
Ol (=)
-——J'U-mﬂ]l_" JIS FLANGE
HOSE BORE DIMENSIONS
PARTNO. FLANGE SIZE DN DASH A © D L
| ssitt1008 | sm | 12 | o8 | | 45 | 342 | 278 | 67 | |
. 88111-10-10 5/8" 16 10 455 342 278 6.7
88111-10-12 | 58" | 20 | 1o | 46 | 342 | 278 | 67 |
1. 2. 88112-xx-Xx
Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 88112-xx-xx.
88141
45
45J IS FLANGE

HOSE BORE D IMENSIONS
} PARTNO. FLANGE SIZE DN DASH A c D H L
| ss1411008 | s8I 12 | o8 | [ 589 1342 [ 278 | 24 | 67 |
| 88141-10-10 5/8" 16 10 696 342 278 253 67
8g141-10-12 | s | 20 | 12 | | 763 | 342 | 278 | 280 | 6.7
1. 2. 88142-xx-xX
Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 88142-xx-xx.

88191
90
90J IS FLANGE
HOSE BORE DIMENSIONS
PART NO. FLANGE SIZE DN DASH A C D H L
| sstor1008 | s | 12 | o8 | | a1 T 342 [ 278 | 48 | 67 |
. 88191-10-10 5/8" 16 10 56 34.2 27.8 52.5 6.7 |
88191-10-12 I 5/8" I 20 I 12 l l 66.2 I 34.2 I 27.8 I 62 6.7
1. 2. 88192-xx-xx
Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is 88192-xx-xx.

B-114



HOSE FITTING

—
90011
L DOUBLE CONNECTOR
HOSE BORE DIMENSIONS
PART NO. DN DASH L
90011-04 6 04 69
90011-05 8 05 69
90011-06 10 06 73
90011-08 12 08 7
90011-10 16 10 83
90011-12 20 12 93
90011-16 25 16 114
90011-20 32 20 132
90011-24 40 24 162
90011-32 50 32 170

Note:For wire braid hose.

B-115




HOSE FITTING

— A
L DOUBLE CONNECTOR
HOSE BORE DIMENSIONS

PART NO. DN DASH L

90012-04 6 04 83
90012-05 8 05 87
90012-06 10 06 87
90012-08 12 08 91

90012-10 16 10 97
90012-12 20 12 110
90012-16 25 16 134
90012-20 32 20 153
90012-24 40 24 172
90012-32 50 32 178

Note:For sprial hose.

B-116




